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Topic:­ General Science
1)

Question Stimulus :­

The branches of tall trees cover the other plants of the forest like a roof top. This is called / ऊँच荀� पॕीख़ ॠ कॎ
षॊखॊएॠ  जॠगल कॕ अĀ य पग़धख़ ॠ कख़ छ� ­ छॊयॊ कॎ तरऻ ढकतॎ ऻ�। इऺॕ कऻॊ जॊतॊ ऻॖ।

Crown / ोषखर

Canopy / ोशतॊन

Trunk / ट� ॠक

Stem / 脀� टॕम

Correct Answer :­Canopy / ोशतॊन 

2)

Question Stimulus :­

Crude petroleum oil is refined by the process known as/ अप磀�रÀ� क॑त �ॐ ड पॕट� ख़ोलयम ऑयल ोजऺ �ۀोकयॊ ��ॊरॊ प磀�रÀ� क॑त
ोकयॊ जॊतॊ ऻॖ शऻ कऻलॊतॎ ऻॖ ­  

DestƌuĐ�ǀe dis�lla�oŶ / भॠजक आऺशन

Siŵple dis�lla�oŶ / ऺरल आऺशन

Eǀapoƌa�oŶ / शॊÀ� पन

FƌaĐ�oŶal dis�lla�oŶ / �ۀभॊजॎ आऺशन

Correct Answer :­FƌaĐ�oŶal dis�lla�oŶ / �ۀभॊजॎ आऺशन 

3)

Question Stimulus :­

Most liƋuids that ĐoŶduĐt eleĐtƌiĐitǇ aƌe solu�oŶs of / ोबजलॎ  ॠऺचॊोलत करनॕ शॊलॕ अोधकॊॠष तरल इनकॕ ोशलयन ऻ�।

AĐids oŶlǇ / कॕशल अĀ ल

Bases oŶlǇ / कॕशल 谀�ॊरक

AĐids & Bases / अĀ ल और 谀�ॊरक

AĐids, Bases & Salts / अĀ ल‚ 谀�ॊरक और लशण

Correct Answer :­AĐids, Bases & Salts / अĀ ल‚ 谀�ॊरक और लशण 



4)

Question Stimulus :­

WhiĐh of the folloǁiŶg is assoĐiated ǁith the pƌopeƌtǇ of feƌ�lizeƌs? / ोनĀ न म荀� ऺॕ कग़न ऺॊ उशȀ�रकख़ ॠ कॕ गॏणधमȀ� ऺॕ
ॠऺब豈�帀�त ऻॖ?

EŶhaŶĐes ǁateƌ holdiŶg ĐapaĐitǇ / जलधॊरण 谀�मतॊ कख़ बुॊतॊ ऻॖ

Pƌoǀides a lot of huŵus to the soil / म॑दॊ कख़ ब�त ऺॊ ऻयॐमऺ �ۀदॊन करतॊ ऻॖ

Iŵpƌoǀes teǆtuƌe of the soil / म॑दॊ कॎ बनॊशट कख़  ॏऺधॊरतॊ ऻॖ

VeƌǇ ƌiĐh iŶ plaŶt ŶutƌieŶts like N.P.K / एन.पॎ.कॕ. जॖऺॕ पॊदप पख़हकख़ ॠ म荀� ऺम॑帀� ऻख़तॊ ऻॖ

Correct Answer :­VeƌǇ ƌiĐh iŶ plaŶt ŶutƌieŶts like N.P.K / एन.पॎ.कॕ. जॖऺॕ पॊदप पख़हकख़ ॠ म荀� ऺम॑帀� ऻख़तॊ ऻॖ 

5)

Question Stimulus :­

Tiny openings called spiracles which allow air to move into the body is characteristic of / Āॊइरॖकल कऻलॊनॕ शॊलॕ
छख़टॕ ��ॊर, जख़ ऻशॊ कख़ षरॎर म荀� जॊनॕ कॎ अनॏमोत दॕतॕ ऻ�‚ शऻ इऺकॊ ल谀�ण ऻॖ ­

Earthworm / क荀� चॏआ

Cockroach / ोतलच�ॊ

Fish / मछलॎ

Human beings / मनॏÀ� य

Correct Answer :­Cockroach / ोतलच�ॊ 

6)

Question Stimulus :­

Name  the safety device which prevents damages to electrical devices and possible fires / उऺ  ॏऺर谀�ॊ यॠ� कॊ नॊम
बतॊइयॕ जख़ ोशद्यॏ त उपकरणख़ ॠ कख़ 谀�ोत�脀� त ऻख़नॕ ऺॕ रख़कतॊ ऻॖ श  ॠऺभॊोशत आग ऺॕ बचॊश करतॊ ऻॖ।

CFL / ऺॎ.एफ.एल.

Fuse / �ॐि

Switch / 豈��च

Element / त�فخ श

Correct Answer :­Fuse / �ॐि 

7)

Question Stimulus :­

Conveyor belts are made from terylene because it is /  ॠऺशॊऻक पोट्टयॊँ टॖरॎलॎन ऺॕ बनॎ ऻख़तॎ ऻ�
Ā यख़ ॠोक यऻ ­



Light ǁeight & so� / ऻĀ कॊ और नरम ऻख़तॊ ऻॖ

VeƌǇ elas�Đ & stƌoŶg / ब�त लचकदॊर और मजबॐत ऻख़तॊ ऻॖ

ResistaŶt to ŵoths & ĐheŵiĐals / षलभ और रॊऺॊयनख़ ॠ ऺॕ �ۀोतरख़धक ऻख़तॊ ऻॖ

Lustƌous & easǇ to ǁash / चमकॎलॊ श धख़नॕ म荀� आऺॊन ऻख़तॊ ऻॖ

Correct Answer :­VeƌǇ elas�Đ & stƌoŶg / ब�त लचकदॊर और मजबॐत ऻख़तॊ ऻॖ 

8)

Question Stimulus :­

WhiĐh oŶe of the folloǁiŶg aŶiŵals is eŶdeŵiĐ to Giƌ Na�oŶal Paƌk? / ोनĀ न म荀� ऺॕ कग़न ऺॊ एक पषॏ ोगर रॊ�� ॎय उĀॊन
कॕ ोलए 脀� थॊोनक ऻॖ?

IŶdiaŶ giaŶt sƋuiƌƌel / भॊरतॎय ोशषॊल ोगलऻरॎ

Tigeƌ / बॊघ

LioŶ –tailed ŵaĐaƋue / षॕर पॐॠछ मकॊक

Asia�Đ lioŶs / एोषयॊई षॕर

Correct Answer :­Asia�Đ lioŶs / एोषयॊई षॕर 

9)

Question Stimulus :­

Sea ďeds haǀe laƌge deposits of siliĐa deƌiǀed fƌoŵ / ऺमॏ�ڀ तलख़ ॠ म荀� इनकॕ ��ॊरॊ �ۀॊ�ء त ोऺोलकॊ कॕ बीॕ भॠडॊर ऻख़तॕ ऻ�।

SŶails / षॠबॏक

Protozoa / �ۀख़टख़जख़आ

BaĐteƌia / बॖĀ टॎ磀�रयॊ

Diatoms / डॊयटम

Correct Answer :­Diatoms / डॊयटम 

10)

Question Stimulus :­

The bacteria  found in the roots of plants, which can convert atmospheric nitrogen to soluble form that can be
utilized by the  plants is / पग़धख़ ॠ कॎ जीख़ ॠ म荀� पॊयॊ जॊनॕ शॊलॊ बॖĀ टॎ磀�रयॊ‚ जख़ शॊयॏमॠडलॎय नॊइट� ख़जन कख़ ोशलॕय �प म荀�
�पॊॠत磀�रत कर ऺकतॊ ऻॖ ोजऺऺॕ उऺकॊ �ۀयख़ग पग़धख़ ॠ ��ॊरॊ �ۀयख़ग ोकयॊ जॊ ऺकॕ ­  

Streptococcus / 煀��ॕĀख़कख़कऺ

Rhizobium / रॊइजख़ोबयम

Pneumococcus  / 惀�ॐटमख़कख़कऺ

Lactobacillus  / लॖ裀�ख़बॖोऺलऺ



Correct Answer :­Rhizobium / रॊइजख़ोबयम 

11)

Question Stimulus :­

What ǁould ďe the effeĐt oŶ fƌiĐ�oŶ if the ŵass of a ďodǇ iŶĐƌeases? / योद एक श脀� तॏ कॊ �ڀĀ यमॊन बढ◌़तॊ ऻॖ
तब घहȀ�ण पर Ā यॊ �ۀभॊश पड◌़◌ॕगॊ ?

FƌiĐ�oŶal foƌĐe iŶĐƌeases as ŵass iŶĐƌeases / �ڀĀ यमॊन कॕ बढ◌़नॕ पर घहˀ� बल बढ◌़तॊ ऻॖ

Frictional force decreases  as mass increases / �ڀĀ यमॊन कॕ बुनॕ पर घहˀ� बल घटतॊ ऻॖ

FƌiĐ�oŶal foƌĐe ƌeŵaiŶs ĐoŶstaŶt as ŵass iŶĐƌeases / �ڀĀ यमॊन कॕ बढ◌़नॕ पर घहˀ� बल 豈�脀�थर रऻतॊ ऻॖ

FƌiĐ�oŶal foƌĐe has ŶothiŶg to do ǁith ŵass / �ڀĀ यमॊन ऺॕ घहˀ� बल कॊ कख़ई लॕनॊ दॕनॊ नऻॎ ॠ ऻॖ

Correct Answer :­FƌiĐ�oŶal foƌĐe iŶĐƌeases as ŵass iŶĐƌeases / �ڀĀ यमॊन कॕ बढ◌़नॕ पर घहˀ� बल बढ◌़तॊ ऻॖ 

12)

Question Stimulus :­

MeŶstƌua�Ŷg giƌls Ŷeed to haǀe foods ƌiĐh iŶ / मॊोऺक धमȀ� ऺॕ �ोऺत लीोकयख़ ॠ कख़ इऺऺॕ भरपॐर भख़जन खॊनॕ कॎ
आश@� यकतॊ ऻख़तॎ ऻॖ।

CaƌďohǇdƌates / कॊबр�ऻॊइड� ॕट

Fats / शऺॊ

Fiďƌe / तॠतॏ

IƌoŶ & ĐalĐiuŵ / लग़ऻ और कॖ豈�Ā ऺ यम

Correct Answer :­IƌoŶ & ĐalĐiuŵ / लग़ऻ और कॖ豈�Ā ऺ यम 

13)

Question Stimulus :­

OŶe of the ĐheŵiĐal ŵethods used to puƌifǇ ǁateƌ at hoŵe is ďǇ / घर पर पॊनॎ कख़ षॏ帀� करनॕ कॕ ोलए �ۀयख़ग ोकयॕ
जॊनॕ शॊलॕ रॊऺॊयोनक तरॎकख़ ॠ म荀� ऺॕ एक ऻॖ­

Boiling  / उबॊलनॊ

BoiliŶg & eleĐtƌiĐ ǁateƌ filteƌs / उबॊलनॊ और ोशद्यॏ त जल ोफĀ टर

CheŵiĐal taďlets oƌ ďleaĐhiŶg poǁdeƌ / रॊऺॊयोनक गख़ोलयॊँ यॊ �ض लॎोचॠग पॊउडर

Dis�lla�oŶ /आऺशन

Correct Answer :­CheŵiĐal taďlets oƌ ďleaĐhiŶg poǁdeƌ / रॊऺॊयोनक गख़ोलयॊँ यॊ �ض लॎोचॠग पॊउडर 

14)

Question Stimulus :­

Amla is a rich source of / आमलॊ एक �ۀचॏर �ख़त ऻॖ, इऺकॊ :



Citric acid /   ोऺोट� क अ杀�

Acetic acid / एोऺोटक अ杀�

Ascorbic acid / ए灀�ॗोबȀ�क अ杀�

Tartaric acid / टॊटȀ�磀�रक अ杀�

Correct Answer :­Ascorbic acid / ए灀�ॗोबȀ�क अ杀� 

15)

Question Stimulus :­

The tuďe that Đaƌƌies speƌŵs to the uƌethƌa is Đalled / षॏ�ॊणॏओॠ कख़ मॐ�मॊगȀ� तक लॕ जॊनॕ शॊलॎ टयॐब कख़ कऻॊ जॊतॊ
ऻॖ।

Vas defeƌeŶs / शॊऺ ोडफरॕĀ ऺ

Testes / टॕ豈�煀�ऺ

EpididǇŵis / एोपोडोडोमऺ

Scrotum  / श॑हणकख़ह

Correct Answer :­Vas defeƌeŶs / शॊऺ ोडफरॕĀ ऺ  

16)

Question Stimulus :­

A mixture of sand, silt and clay forms / बॊलॐ‚ोऺ� (गॊद) और ोचकनॎ ोम�ॎ कॕ ोम�ހण ऺॕ इऺकॎ रचनॊ ऻख़तॎ ऻॖ ।

Loamy soil /  ोचकनॎ बलॏई ोम�ॎ

Clayey soil / म॑糀� मय ोम�ॎ

Sandy soil / रॕतॎलॎ ोम�ॎ

Wet soil / गॎलॎ ोम�ॎ

Correct Answer :­Loamy soil /  ोचकनॎ बलॏई ोम�ॎ 

17)

Question Stimulus :­

The  ‘Ringed’ planet surrounded by distinctive rings of dust & rocks is / धॐल और च�ॊनख़ ॠ कॕ ोशोषÀ� ट छĀ लख़ ॠ ऺॕ ोघरॊ
�आ ‘छĀ लॎय’ उप�ऻ ऻॖ ­

Jupiteƌ / ब◌॑ऻ脀� पोत

SatuƌŶ / षोन

UƌaŶus / अ�ण

NeptuŶe / नॕ�ء ट◌्यॐन



Correct Answer :­SatuƌŶ / षोन 

18)

Question Stimulus :­

The process of  Rusting of Iron is faster in / लख़ऻॕ म荀� जॠग लगनॕ कॎ �ۀो�यॊ इऺम荀� तॕज ऻख़तॎ ऻॖ :

Coastal areas / तटॎय 谀ॕ��

Deserts / म�脀�थल

Hills / पऻॊोीयख़ ॠ

Rainy areas / बरऺॊत कॕ 谀ॕ��ख़ ॠ म荀�

Correct Answer :­Coastal areas / तटॎय 谀ॕ�� 

19)

Question Stimulus :­

WoƌŶ out steps of foot‐oǀeƌ ďƌidges oŶ ƌailǁaǇ sta�oŶs aƌe due to / रॕलशॕ 煀ॕ�षनख़ ॠ पर पॏलख़ ॠ कॕ ऊपर पॖर कॎ
ऺॎढ◌़ो◌ यख़ ॠ कॊ ोघऺनॕ कॊ कॊरण ऻॖ ­

FƌiĐ�oŶal foƌĐe / घहˀ� बल

Gƌaǀita�oŶal foƌĐe / गॏ��فخ शॎय बल

Pƌessuƌe eǆeƌted oŶ the steps of foot oǀeƌ ďƌidge / पॏल कॕ ऊपर पॖर कॎ ऺॎढ◌़ो◌ यख़ ॠ पर लगॊयॊ गयॊ दॊब

Flat aŶd laƌge aƌea of steps / ऺॎढ◌़ो◌ यख़ ॠ कॊ चपटॊ और बड◌़◌ॊ 谀ॕ��

Correct Answer :­FƌiĐ�oŶal foƌĐe / घहˀ� बल 

20)

Question Stimulus :­

The ŶoŶŵetal used iŶ disiŶfeĐ�Ŷg ǁateƌ is / पॊनॎ कॊ ोश ॠऺ�मण रख़कनॕ कॕ ोलए अधॊतॏ कॊ इĀॕमॊल ऻख़तॊ ऻॖ।

ChloƌiŶe / �ख़रॎन

BƌoŵiŶe / �ख़ोमन

IodiŶe / आयख़डॎन

FluoƌiŶe / �ॏओरॎन

Correct Answer :­ChloƌiŶe / �ख़रॎन 

21)

Question Stimulus :­

Sea breeze is the result of / ऺमॏ�ڀॎ ऻशॊ, इऺकॊ प磀�रणॊम ऻॖ ______

Convection /  ॠऺशऻन



Conduction / चॊलन

Radiation / ोशोकरण

Reflection / परॊशतȀ�न

Correct Answer :­Convection /  ॠऺशऻन 

22)

Question Stimulus :­

WheŶ a �ghtlǇ stƌetĐhed ďaŶd is pluĐked, it pƌoduĐes souŶd due to / जब एक तॕजॎ ऺॕ 豈�खचॕ �ए ब�ड कख़ कोहȀ�त ोकयॊ
जॊतॊ ऻॖ‚ तख़ यऻ इऺकॕ कॊरण Ā शोन उ�فخ पĀ न करतॊ ऻॖ ­

FƌeƋueŶĐǇ / आश॑ोĀ

Tiŵe peƌiod / ऺमय अशोध

Aŵplitude / आयॊम

Viďƌa�oŶs / कĀ पन

Correct Answer :­Viďƌa�oŶs / कĀ पन 

23)

Question Stimulus :­

White light consists of  / 渀ॕ�त �ۀकॊष म荀� उप豈�脀�थत ऻख़तॕ ऻ�।

1 color / 1 रॠग

7 colors / 7 रॠग

5 colors / 5 रॠग

No color / कख़ई रॠग नऻॎ ॠ

Correct Answer :­7 colors / 7 रॠग 

24)

Question Stimulus :­

Monsoon winds happen when / मॊन ॐऺन पशन तब चलतॎ ऻ� जब ­

Wind blows from ocean to land, in summer /  गमˀ� म荀�, पशन, मऻॊऺॊगर ऺॕ भॐोम कॎ ओर चलतॎ ऻॖ

Wind blows from land to ocean, in summer / गमˀ� म荀�, पशन, भॐोम ऺॕ मऻॊऺॊगर कॎ ओर चलतॎ ऻॖ

Wind blows from north to south /  पशन, उ�فخ तर ऺॕ दो谀�ण कॎ ओर चलतॎ ऻॖ

Wind blows from ocean to land, in winter  / ऺदˀ� म荀�, पशन मऻॊऺॊगर ऺॕ भॐोम कॎ ओर चलतॎ ऻॖ

Correct Answer :­Wind blows from ocean to land, in summer /  गमˀ� म荀�, पशन, मऻॊऺॊगर ऺॕ भॐोम कॎ ओर
चलतॎ ऻॖ 



25)

Question Stimulus :­

Shadows are formed because / छॊयॊ बनतॎ ऻ�, Ā यख़ ॠोक ­

Light travels as waves / �ۀकॊष, तॠरगख़ ॠ कॕ �प म荀� यॊ�ॊ करतॊ ऻॖ

Light travels in straight line / �ۀकॊष, ऺॎधॎ रॕखॊ म荀� यॊ�ॊ करतॊ ऻॖ

Light is a form of  energy / �ۀकॊष, ऊजॊȀ� कॊ एक �प ऻॖ

Light bends when it travels / �ۀकॊष, यॊ�ॊ करतॕ �ए झॏकतॊ ऻॖ

Correct Answer :­Light travels in straight line / �ۀकॊष, ऺॎधॎ रॕखॊ म荀� यॊ�ॊ करतॊ ऻॖ 

Topic:­ General Hindi
1)

Question Stimulus :­

कग़न ऺॕ ऐऺॕ ष�ض द ऻ� ोजनकॊ उ简� चॊरण मॊ�ॊ यॊ शणȀ� कॕ ऻĀ कॕ ऺॕ ऻॕर फॕर कॕ ोऺशॊ �ۀॊयॡ ऺमॊन ऻॖ ोकĀ तॏ अथȀ� म荀�
ोभĀ नतॊ ऻॖ?

ोशपरॎतॊथȀ�क

ऺमॊनॊथȀ�क

अनॕकॊथȀ�क

यॏ�ּנ म ष�ض द

Correct Answer :­यॏ�ּנ म ष�ض द 

2)

Question Stimulus :­

अथȀ� कॕ आधॊर पर नॎचॕ ोलखॕ शॊ諀�ख़ ँकॕ भॕद बतॊइए ­

“भगशॊन आपकख़ ऺद्बॏ 豈�帀� दॕ।“

�नशॊचक शॊ諀 �@ۀ�

ोनहॕधशॊचक शॊ諀�

ोशधॊनशॊचक  शॊ諀�

इ�ॊशॊचक शॊ諀�

Correct Answer :­इ�ॊशॊचक शॊ諀� 

3)

Question Stimulus :­



ोनĀ न शॊĀ यख़ ॠ म荀� ऺॕ उ帀�रण ोचऻन शॊलॕ षॏ帀� शॊĀ य कख़ चॏोनयॕ।

मॊँ नॕ कऻॊ– "म� दॕर ऺॕ घर लग़टॐ ँगॎ। तॏम अपनॊ पॊठ अश@� य यॊद कर लॕनॊ"।

शॊऻ! तॏमनॕ जख़ कमॊल कर ोदखॊयॊ।

मऻॊ�فخ मॊ गॊँधॎ मऻॊपॏ�ह थॕ‚ ऺभॎ 脀� р�ॎ पॏ�ह ब简� चॕ उĀ ऻ荀� अपनॊ मॊगȀ�दषȀ�क मॊनतॕ थॕ।

मरतॊ‚ Ā यॊ न करतॊ।

Correct Answer :­मरतॊ‚ Ā यॊ न करतॊ। 

4)

Question Stimulus :­

‘कॊम अपनॎ अशोध म荀� ऻॎ पॐणȀ� ऻख़ ऺकतॊ ऻॖ‚ पऻलॕ नऻॎ ॠ’

ोनĀ न म荀� ऺॕ यऻ ोकऺ लख़कख़豈�� कॊ ऺऻॎ अथȀ� ऻॖ?

यऻ मॏँऻ और म ॐऺर कॎ दॊल

ऻथॕलॎ पर ऺरऺख़ ॠ नऻॎ ॠ जमतॎ

ऺऻज पकॕ ऺख़ मॎठॊ पकशॊन

नॊम बीॕ पर दषȀ�न छख़टॕ

Correct Answer :­ऻथॕलॎ पर ऺरऺख़ ॠ नऻॎ ॠ जमतॎ 

5)

Question Stimulus :­

कॏ छ लीकॕ जॊ चॏकॕ ऻॖ।ँ इऺ शॊ諀� म荀� ष挀� “कॏ छ” कॕ ोशषॕहण  कॊ भॕद बतॊइए ­

गॏणशॊचक

ोनोĀत शॊचक

अोनोĀत प磀�रमॊणशॊचक

अोनोĀत  ॠऺ蹀�ॊशॊचक

Correct Answer :­अोनोĀत प磀�रमॊणशॊचक 

6)

Question Stimulus :­

दॐ ध पॎकर‚ दॎदॎ ऺॕ कऻॊनॎ  ॏऺनकर‚ ब简� चॊ ऺख़ गयॊ ऻॖ। यऻ शॊĀ य ोकऺ ोचऻन कख़ ऺĀ बख़ोधत करतॊ ऻॖ

ोश脀� मय ॐऺचक ोचऻ◌्न

यख़जक ोचऻ◌्न

अ帀�Ȁ� ोशरॊम ोचऻ◌्न



अĀ प ोशरॊम ोचऻ◌्न

Correct Answer :­ोश脀� मय ॐऺचक ोचऻ◌्न 

7)

Question Stimulus :­

ोशऺगȀ� कॕ ऺॊथ �र यॊ �ॠजन कॎ  ॠऺोध कख़ 諀�ॊ कऻतॕ ऻ� ?

गॏण  ॠऺोध

�र  ॠऺोध

�ॠजन  ॠऺोध

ोशऺगȀ�  ॠऺोध

Correct Answer :­ोशऺगȀ�  ॠऺोध 

8)

Question Stimulus :­

‘पुशइयॊ’ म荀� �ۀĀय ­

यॊ

इयॊ

शइयॊ

अइयॊ

Correct Answer :­इयॊ 

9)

Question Stimulus :­

‘शॊऻ कॖऺॊ  ॏऺॠदर ĀĀ ऻॖ’ यऻ ोकऺ �ۀकॊर कॊ शॊ諀� ऻॖ ­ 

ोशधॊन शॊचक

ॠऺकॕत शॊचक

ॠऺदॕऻ शॊचक

ोश玀�यॊोद शॊचक

Correct Answer :­ोश玀�यॊोद शॊचक 

10)

Question Stimulus :­

तनॏ कॊ पयॊȀ�यशॊचॎ ष挀� ऻॖ_______



षरॎर

झॎल

चॠ�ڀमॊ

खोटयॊ

Correct Answer :­षरॎर 

11)

Question Stimulus :­

‘ोनĀॕज’ कॊ  ॠऺोध ोश�ॕद ऻॖ ­

ोनॡ+तॕज

ोनत्+तॕज

ोनऺ्+तॕज

ोनर्+तॕज

Correct Answer :­ोनॡ+तॕज 

12)

Question Stimulus :­

‘मऻग़दॊयȀ�’ कॊ  ॠऺोध ोश�ॕद ऻॖ ­

मऻॊ+उदॊयȀ�

मऻॊ+औदॊयȀ�

मऻॊ+ओदॊयȀ�

मऻॊ+ऊदॊयȀ�

Correct Answer :­मऻॊ+औदॊयȀ� 

13)

Question Stimulus :­

‘ोछॡ कॖऺॎ ल�﯀ जॊ कॎ बॊत ऻॖ’। यऻ शॊĀ य ोकऺ ोचऻन कख़ ऺĀ बख़ोधत करतॊ ऻॖ?

ोश脀� मय ॐऺचक ोचऻ◌्न

यख़जक ोचऻ◌्न

अ帀�Ȁ� ोशरॊम ोचऻ◌्न

ोनद菀�षक ोचऻ◌्न



Correct Answer :­ोश脀� मय ॐऺचक ोचऻ◌्न 

14)

Question Stimulus :­

‘ोमठबख़लॊ’ म荀� ऺमॊऺ ऻॖ ­

कमȀ�धॊरय

अ�यॎभॊश

ो��गॏ

ब��ॎोऻ

Correct Answer :­ब��ॎोऻ 

15)

Question Stimulus :­

ोकऺ ष挀� म荀� “आशट’ �ۀĀय नऻॎ ॠ ऻॖ ­

ऺजॊशट

बनॊशट

�कॊशट

घबरॊऻट

Correct Answer :­घबरॊऻट 

16)

Question Stimulus :­

“पॠचॊम॑त” ष挀� म荀� कग़न ऺॊ ऺमॊऺ ऻॖ ­

ब��ॎोऻ ऺमॊऺ

तĀॏ�ह ऺमॊऺ

��ॠ�� ऺमॊऺ

ो��गॏ ऺमॊऺ

Correct Answer :­ो��गॏ ऺमॊऺ 

17)

Question Stimulus :­

ोनĀ न म荀� ऺॕ षॏ帀� शॊĀ य कग़न ऺॊ ऻॖ?

म� आपकॕ दषȀ�न करनॕ आयॊ �ँ।
म� दषȀ�न करनॕ आयॊ �ँ।



म� दषȀ�न करनॕ आयॊ �ँ।

म� आपकॊ दषȀ�न करनॕ आयॊ �ँ आपकॊ।

म� दषȀ�न करनॕ आयॊ �ँ आपकॕ।

Correct Answer :­म� आपकॕ दषȀ�न करनॕ आयॊ �ँ। 

18)

Question Stimulus :­

‘मॏरॕलॊ’ म荀� �ۀĀय ऻॖ ­

एलॊ

रॕलॊ

लॊ

इलॊ

Correct Answer :­एलॊ 

19)

Question Stimulus :­

­ यॏĀ त उपऺगȀ� ऻॖۀ� �द म荀 ض�ोतĀ शोन’ षۀ�‘

ۀ�

ोतۀ�

ोन

Ā शोन

Correct Answer :­�ۀोत 

20)

Question Stimulus :­

‘इऺ शहȀ� फऺल अ�ॎ नऻॎ ॠ �ई ऻॖ ________अनॊज मऻॠगॊ ऻॖ’ 磀�र� 脀�थॊन कॕ ोलए उोचत अ�य 諀�ॊ ऻॖ?

लॕोकन

परॠतॏ

諀�ख़ ॠोक

इऺोलए

Correct Answer :­इऺोलए 

21)



Question Stimulus :­

‘आऺमॊन ऺॕ बॊत荀� करनॊ’ मॏऻॊशरॕ कॊ 諀�ॊ अथȀ� ऻॖ ?

मॐखȀ�तॊ भरॎ बॊत荀� करनॊ

ब�त प磀�र�ހम करनॊ

ब�त तॕज दग़ीनॊ

ब�त ऊँचॊ

Correct Answer :­ब�त ऊँचॊ 

22)

Question Stimulus :­

ोनĀ न म荀� ऺॕ षॏ帀� शॊĀ य कग़न ऺॊ ऻॖ?

आज कॊ ऺमॊचॊर अ简� छॊ ऻॖ।

आज कॕ ऺमॊचॊर अ简� छॕ ऻ�।

ऺमॊचॊर अ简� छॕ ऻ� आज कॕ।

अ简� छॕ ऻ� आज कॕ ऺमॊचॊर।

Correct Answer :­आज कॕ ऺमॊचॊर अ简� छॕ ऻ�। 

23)

Question Stimulus :­

‘ोदल मऺख़ऺकर रऻ जॊनॊ’ मॏऻॊशरॕ कॊ अथȀ� ऻॖ ­

ोशपĀतॊ कॎ 豈�脀�थोत म荀� ऻख़नॊ

अ谀�म ऻख़नॊ

लॊलच आनॊ

खॎझकर रऻ जॊनॊ

Correct Answer :­खॎझकर रऻ जॊनॊ 

24)

Question Stimulus :­

ोन昀� म荀� ऺॕ कतॊȀ� ‘म�’ एकशचन कॊ ब�शचन बतॊएॠ  ?

मॏझॕ

मॕरॕ ोलए

ऻमॊरॊ



ऻम

Correct Answer :­ऻम 

25)

Question Stimulus :­

‘ोषोथल’ कॕ पयॊȀ�यशॊचॎ ष�ض द ऻ� ­

शॎर‚ बऻॊदॏर‚ यख़帀�ॊ

ोशन݀�‚ ोषÀ� ट‚  ॏऺषॎल

ॏऺ脀� त‚ ढॎलॊ‚ धॎमॊ

चॏर‚ ब�ल‚ ष豈��ऻॎनۀ�

Correct Answer :­ ॏऺ脀� त‚ ढॎलॊ‚ धॎमॊ 

Topic:­ General Mathematics
1)

Question Stimulus :­

On dividing x2 + x – 4 by a polynomial g(x), the quotient and the remainder are (x ­ 2) and 2 respectively. Then
g(x) = / x2 + x – 4 कख़ ब�पद g(x) ऺॕ ोशभॊोजत करनॕ पर, भॊगफल और षॕहफल �मष: (x ­ 2) और 2 आतॕ ऻ�। अत: g(x) =

2x ­ 1

x ­ 1

x + 1

x + 3

Correct Answer :­x + 3 

2)

Question Stimulus :­

If x = 30°, then 4cos3x – 2cosx = / योद x = 30°, तख़ 4cos3x – 2cosx =

cosx

sin3x

tanx

secx

Correct Answer :­cosx 

3)

Question Stimulus :­



30 ­ 40

60 ­ 70

50 ­ 60

70 ­ 80

Correct Answer :­50 ­ 60 

4)

Question Stimulus :­

If the square of the difference of the zeros of a quadratic polynomial f(x) x2 +kx + 5 is 16, then k =  / योद ो��घॊत
ब�पद f(x) x2 +kx + 5 कॕ षॐ惀�ख़ ॠ कॕ अॠतर कॊ शगȀ� 16 ऻॖ, तब k=

       

Correct Answer :­  

5)

Question Stimulus :­

A number x is chosen at random from the numbers ­4, ­3, ­2, ­1, 0, 1, 2, 3, 4.  The probability that |x| > 1 /  ॠऺ蹀�ॊओॠ
­4, ­3, ­2, ­1, 0, 1, 2, 3, 4 म荀� ऺॕ एक  ॠऺ蹀�ॊ x कख़ यॊĀ豈��क �प ऺॕ चयोनत ोकयॊ जॊतॊ ऻॖ। इऺ 豈�脀�थोत म荀�, |x| > 1 आनॕ कॎ
­ ॊोयकतॊ ऻख़गॎۀ�



Correct Answer :­  

6)

Question Stimulus :­

5 : 4

3 : 7

4 : 3

7 : 2

Correct Answer :­7 : 2 

7)

Question Stimulus :­

From a solid right circular cylinder with height 9 cm and base radius 5 cm, a right circular cone of the same height
and same base is removed. The volume(in cm3) of the remaining solid is /  एक ठख़ऺ लॠब श॑Āॎय बॕलन ोजऺकॎ ऊँचॊई 9
ऺॕमॎ एशॠ आधॊर कॎ ो��ॊ 5 ऺॕमॎ ऻॖ, ऺॕ ऺमॊन ऊँचॊई एशॠ ऺमॊन आधॊर कॊ एक ठख़ऺ लॠब श॑Āॎय षॠकॏ  ोनकॊलॊ जॊतॊ ऻॖ। षॕह
ठख़ऺ कॊ आयतन (ऺॕमॎ3 म荀�) ऻॖ:

150

175

225

200

Correct Answer :­150  

8)

Question Stimulus :­

Find the value of 'k', if (­2b) is a solution of the equation x(2x ­ 3b) ­ k = 0  / योद ऺमॎकरण x(2x ­ 3b) ­ k = 0 कॊ
ऻल (­2b) ऻॖ, अत: ‘k’ कॊ मॊन �ॊत कर荀�।



14b2

­8b

4b2

­12b

Correct Answer :­14b2 

9)

Question Stimulus :­

6

8

4

9

Correct Answer :­8 

10)

Question Stimulus :­

The roots ‘a’ and ‘b’ of the quadratic equation x2 + kx + 42 = 0 are such that a – b = 1. Then k = / ो��घॊत ऺमॎकरण
x2 + kx + 42 = 0  कॕ मॐल ‘a’ और ‘b’ इऺ �ۀकॊर ऻॖ ोक a – b = 1, तख़ k =

Correct Answer :­  

11)

Question Stimulus :­

A coin is tossed 500 times with the following outcomes. 

Heads : 180 times

Tails : 320 times

The probability of getting a head is /



एक ोऺ�ॕࣀ कख़ ोन昀� प磀�रणॊमख़ ॠ कॕ ऺॊथ 500 बॊर उछॊलॊ जॊतॊ ऻॖ।

ऻॕड्ऺ (षॎहȀ�)  – 180 बॊर

टॕल (प@� च) – 320 बॊर

ोऺĀ कॕ कख़ उछॊलॕ जॊनॕ पर ऻॕड (षॎहȀ�) आनॕ कॎ �ۀॊोयकतॊ ऻॖ:

0.36

0.64

0.42

0.58

Correct Answer :­0.36 

12)

Question Stimulus :­

4.5 cm / 4.5 ऺॕमॎ.

2 cm / 2 ऺॕमॎ.

5.5 cm / 5.5 ऺॕमॎ.

3.5 cm / 3.5 ऺॕमॎ.

Correct Answer :­4.5 cm / 4.5 ऺॕमॎ. 

13)

Question Stimulus :­

If the radius of the hemisphere is 7a, then its total surface area (in cm2) is / योद एक अधȀ�गख़लॕ कॎ ो��ॊ 7a ऻॖ,
अत: इऺकॊ कॏ ल प॑�ॎय 谀ॕ��फल (ऺॕमॎ2 म荀�) ऻॖ :

372a2

462a2

427a2

357a2



Correct Answer :­462a2 

14)

Question Stimulus :­

Correct Answer :­  

15)

Question Stimulus :­

The sequence defined by which nth term of the following is not an A.P? /अनॏ�म, ोजऺम荀� प磀�रभॊोहत ऻॖ ोक, ोन昀�ोल豈�खत
म荀� ऺॕ कग़न ऺॊ nशॊँ पद ऺमॊॠतर आरख़ऻण (A.P) नऻॎ ॠ ऻॖ ?

4n2 + 5

2n + 2

8n + 1

5n ­ 12

Correct Answer :­4n2 + 5 

16)

Question Stimulus :­

The weight of 10 girls are measured in kg and the results are listed below.

48, 42, 49, 50, 40, 38, 51, 46, 39, 47

The number of girls, whose weights are more than the mean weight, is /



10 लीोकयख़ ॠ कॊ शजन, ोक�ॊ म荀� मॊपॊ गयॊ और प磀�रणॊम नॎचॕ  ॐऺचॎब帀� ऻ�:

48, 42, 49, 50, 40, 38, 51, 46, 39, 47

उन लीोकयख़ ॠ कॎ  ॠऺĀ यॊ बतॊइए, ोजनकॊ शजन, उनकॕ मॊĀ ऺॕ अोधक ऻॖ

4

6

3

7

Correct Answer :­6 

17)

Question Stimulus :­

Correct Answer :­  

18)

Question Stimulus :­



Correct Answer :­  

19)

Question Stimulus :­

There are two cones. The curved surface area of one is thrice the other. Find the ratio of their slant heights if the
radius of the latter is twice that of the former. / दख़ षॠकॏ  ऻ�। एक कॊ श� प॑�ॎय 谀ॕ��फल, दॐ ऺरॕ कॊ ोतगॏनॊ ऻॖ। इनकॎ
ोतरछॎ ऊँचॊई कॊ अनॏपॊत �ॊत कर荀� , योद उĀरॊ帀�Ȁ� षॠकॏ  कॎ ो��ॊ पऻलॕ शॊलॕ षॠकॏ  ऺॕ  दख़गॏनॎ ऻॖ।

6 : 1

3 : 2

1 : 6

2 : 3

Correct Answer :­6 : 1 

20)

Question Stimulus :­

The liquid in a hemispherical bowl of internal radius 6 cm is to be filled into a cylindrical shaped small bottles
of radius 2 cm and height 3 cm. The number of bottles required to empty the bowl is / 6 ऺॕमॎ. कॎ आॠत磀�रक
ो��ॊ शॊलॕ अधȀ�गख़लॎय कटख़रॕ म荀� रखॕ �ڀश कख़ बॕलनॊकॊर आक॑ोत शॊलॎ बख़तलख़ ॠ, ोजनकॎ ो��ॊ 2 ऺॕमॎ एशॠ ऊँचॊई 3 ऺॕमॎ
ऻॖ, म荀� भरनॊ ऻॖ। कटख़रॕ कख़ ख़ॊलॎ करनॕ कॕ ोलए आशĀक बख़तलख़ ॠ कॎ  ॠऺ蹀�ॊ ऻॖ :

10

12

14

16

Correct Answer :­12 

21)

Question Stimulus :­

Which of the following is a pure recurring decimal? / ोन昀�ोल豈�खत म荀� ऺॕ कग़न ऺॊ षॏ帀� आशतȀ� दषमलश ऻॖ?



Correct Answer :­  

22)

Question Stimulus :­

PQRS is a quadrilateral in which ∠P = a  and ∠R = b. If the bisectors of ∠P and ∠R meet SR and QP produced at
N and M respectively, then ∠M + ∠N in terms of 'a' and 'b' is / PQRS एक चतॏभॏȀ�ज ऻॖ ोजऺम荀� ∠P = a एशॠ ∠R = b ऻॖ।
योद ∠P एशॠ ∠R कॕ ऺमो��भॊजक SR एशॠ QP पर ोमलकर �मष: 'N' एशॠ ' M' कॊ ोनमॊȀ�ण करतॕ ऻ�, तख़ 'a' एशॠ 'b' कॕ �प म荀�
∠M + ∠N ऻॖ:

a + b

2(a + b)

Correct Answer :­  

23)

Question Stimulus :­

If 3a + 2b + c = 0 , then the value of 27a3 + 8b3 + c3 = / योद 3a + 2b + c = 0, तब  27a3 + 8b3 + c3 कॊ मॊन =

9ab

12c

16ac

18abc

Correct Answer :­18abc 

24)

Question Stimulus :­

800

900

1000



950

Correct Answer :­900 

25)

Question Stimulus :­

ABCD is a parallelogram in which AB = 12cm, AC = 30cm and BD = 18cm. The area of triangle AOB = / ABCD
एक ऺमॊ��र चतॏभॏȀ�ज ऻॖ ोजऺम荀� AB = 12 ऺॕमॎ, AC = 30 ऺॕमॎ एशॠ BD = 18 ऺॕमॎ ऻॖ। ो�कख़ण AOB कॊ 谀ॕ��फल =

72cm2  / 72ऺॕमॎ.2

54cm2 / 54ऺॕमॎ.2

68cm2 / 68 ऺॕमॎ.2

66cm2 / 66 ऺॕमॎ.2

Correct Answer :­54cm2 / 54ऺॕमॎ.2 

Topic:­ General English
1)

Question Stimulus :­

Choose the option that best punctuates the given sentence:

I dont know I havent seen him

I don’t know: I haven’t seen him.

I don’t know. I haven’t seen him?

I don’t know; I have’nt seen him.

I don’t know; I haven’t seen him.

Correct Answer :­I don’t know; I haven’t seen him. 

2)

Question Stimulus :­

Choose the option that best transforms the sentence into its Direct / Indirect form:

‘Ugh! There’s a fly in my soup. Waiter!’ he cried

He exclaimed with surprise that there was a fly in soup and called the waiter.

He exclaimed with disgust that there was a fly in his soup and called the waiter.

He exclaimed with horror that there is a fly in soup and called the waiter.

Exclaiming with disgust that there has been a fly in soup and began to call the waiter.

Correct Answer :­He exclaimed with disgust that there was a fly in his soup and called the waiter. 

3)



Question Stimulus :­

Read the sentence carefully and choose the option that has an error in it:

Both Vijayan and Rajan are quite tall but Rajan is the tallest of the two.

Both Vijayan and Rajan

are quite tall

but Rajan is

the tallest of the two

Correct Answer :­the tallest of the two 

4)

Question Stimulus :­

Choose the most suitable determiner for the given sentence:

________ cloud has a silver lining.

Any

All

Every

Most

Correct Answer :­Every 

5)

Question Stimulus :­

Complete the sentence choosing the right form of Prefix:

 The villager was thrilled to use the _______way to cross the road.

sub­

mid­

over­

super­

Correct Answer :­sub­ 

6)

Question Stimulus :­

Choose the option that best transforms the sentence into its other voice:

Passengers leave all sorts of things in buses.

All sorts of things are left in the bus by passengers.



In the bus, all sorts of things are being left by passengers.

All sorts of things were left in the bus by passengers.

All sorts of things are being left in the bus by passengers.

Correct Answer :­All sorts of things are left in the bus by passengers. 

7)

Question Stimulus :­

Choose the appropriate option that fills in the given sentence correctly:

I told mom that we’d be home ________ an hour or so, but we got late ________ another hour.

under, with

in, by

at, for

until, with

Correct Answer :­in, by 

8)

Question Stimulus :­

Choose the option that is closest in meaning to the highlighted word in the given sentence:

Why do you encroach on the liberty of others?

attack

bind

intrude

mediate

Correct Answer :­intrude 

9)

Question Stimulus :­

Read the sentence carefully and choose the option that has an error in it:

When Gopal opened the cage, the parrot came out and perched in his shoulder.

When Gopal opened the cage,

the parrot came out and perched

in his shoulder.

No error



Correct Answer :­in his shoulder. 

10)

Question Stimulus :­

Choose the option that best fills in to complete the given sentence::

Maya __________ of giving up her job.

is thinking

thinks

will have been thinking

have thought

Correct Answer :­is thinking 

11)

Question Stimulus :­

Choose the option that best transforms the given sentence without changing its meaning:

The Japanese company might buy our firm.

The Japanese company should be buying our firm.

The Japanese company hopes buying our firm.

The Japanese company will possibly buy our company.

We hope the Japanese company ought to buy our firm.

Correct Answer :­The Japanese company will possibly buy our company. 

12)

Question Stimulus :­

Choose the option that best transforms the sentence into its Direct / Indirect form:

My host offered me more soup and I accepted it.

‘Do you want some more soup?’ My host said. ‘Yes, please.’

‘Want some more soup?’ My host said. ‘Yes’ I said.

‘Have some more soup?’ My host said. ‘Yes, please.’ I replied.

‘Have some more soup?’ My host asks. ‘Yes, please.’ I reply.

Correct Answer :­‘Have some more soup?’ My host said. ‘Yes, please.’ I replied. 

13)

Question Stimulus :­

Choose the option that is closest in meaning to the highlighted word in the given sentence:



The Supreme Court has a reputation for being just.

Stubborn

Impartial

Humorous

Capricious

Correct Answer :­Impartial 

14)

Question Stimulus :­

Choose the option that best punctuates the given sentence:

The king said gentlemen all I possess is yours

The king said, “Gentlemen, all I possess is yours.”

The king said, “gentlemen, all I possess is yours.”

The king said, “Gentlemen, all I possess is your’s.”

The king said “Gentlemen all I possess is yours.

Correct Answer :­The king said, “Gentlemen, all I possess is yours.” 

15)

Question Stimulus :­

Choose the option that best fills in to complete the given sentence::

Aparna ___________ very happy at the moment.

didn’t seem

was not seeming

doesn’t seem

will not seem

Correct Answer :­doesn’t seem 

16)

Question Stimulus :­

Choose the option that best transforms the given sentence without changing its meaning:

The firewood is dry. It should burn well.

The firewood is dry but it will burn well.

The firewood is dry so it should burn well.



Until the firewood is dry it will burn well.

Unless the firewood is dry, then only must it burn well.

Correct Answer :­The firewood is dry so it should burn well. 

17)

Question Stimulus :­

Choose the appropriate option that fills in the given sentence correctly:

________ she is terrified of heights, she is an airline pilot and lives in a penthouse.

Since

Although

As

Whenever

Correct Answer :­Although 

18)

Question Stimulus :­

Choose the appropriate option that fills in the given sentence correctly:

Crimes will never cease, _____________ there is a moral change in society.

so that

since

because

unless

Correct Answer :­unless 

19)

Question Stimulus :­

Choose the correct form of verb that is in agreement with the subject:

Vijay and Kumar  __________ interest in any work.

don’t take

don’t took

no taking

doesn’t take

Correct Answer :­don’t take 

20)



Question Stimulus :­

Choose the appropriate option that fills in the given sentence correctly:

A galaxy may extend ________ thousands ________ light years ________ space.

into, of, in

for, of, out of

over, of, of

by, of, in

Correct Answer :­over, of, of 

Topic:­ RC_General English
1)

Question Stimulus :­

Read the following passage and answer the question given below:

Today man has reached great heights. He has invented many things previously unknown to him. Moreover, he has
created great progress in fields such as medicine and science, which have helped him to lead a comfortable life.

But man has also created poisons, bombs, guns and lethal weapons too. Also, there are some things which give him
great pleasure but later on prove fatal to mankind.

Taking drugs and smoking are two of the deadly habits man has cultivated. Though drugs have been controlled
down to two percent, it is still on the prowl. But smoking is the worst poison in a person’s life. Though it gives him
great pleasure in the initial stages, as time passes, it will lead to several health hazards. The first symptoms of
smoking are chest burning, asthma, wheezing, cold etc. which cause difficulties in regular breathing. In the end,
the person dies of breathlessness.

Smoking has to be banned in all places. But many people are careless and shut both their ears to what the world
has to say. All of us are familiar with the saying. “Today’s children are tomorrow’s citizens.” But if today’s children
are smokers, then tomorrow there will be only smoke in the mouth and fire in the stomach. 

What deadly habits has man become a slave to?

War mongering

Drugs

Smoking

Drugs and smoking

Correct Answer :­Drugs and smoking 

2)

Question Stimulus :­

Read the following passage and answer the question given below:

Today man has reached great heights. He has invented many things previously unknown to him. Moreover, he has
created great progress in fields such as medicine and science, which have helped him to lead a comfortable life.



But man has also created poisons, bombs, guns and lethal weapons too. Also, there are some things which give him
great pleasure but later on prove fatal to mankind.

Taking drugs and smoking are two of the deadly habits man has cultivated. Though drugs have been controlled
down to two percent, it is still on the prowl. But smoking is the worst poison in a person’s life. Though it gives him
great pleasure in the initial stages, as time passes, it will lead to several health hazards. The first symptoms of
smoking are chest burning, asthma, wheezing, cold etc. which cause difficulties in regular breathing. In the end,
the person dies of breathlessness.

Smoking has to be banned in all places. But many people are careless and shut both their ears to what the world
has to say. All of us are familiar with the saying. “Today’s children are tomorrow’s citizens.” But if today’s children
are smokers, then tomorrow there will be only smoke in the mouth and fire in the stomach. 

How can one say that man has reached great heights?

Because he has evolved fully.

Because he is the most intelligent of all animals.

Because he can talk.

Because he has invented many things.

Correct Answer :­Because he has invented many things. 

3)

Question Stimulus :­

Read the following passage and answer the question given below:

Today man has reached great heights. He has invented many things previously unknown to him. Moreover, he has
created great progress in fields such as medicine and science, which have helped him to lead a comfortable life.

But man has also created poisons, bombs, guns and lethal weapons too. Also, there are some things which give him
great pleasure but later on prove fatal to mankind.

Taking drugs and smoking are two of the deadly habits man has cultivated. Though drugs have been controlled
down to two percent, it is still on the prowl. But smoking is the worst poison in a person’s life. Though it gives him
great pleasure in the initial stages, as time passes, it will lead to several health hazards. The first symptoms of
smoking are chest burning, asthma, wheezing, cold etc. which cause difficulties in regular breathing. In the end,
the person dies of breathlessness.

Smoking has to be banned in all places. But many people are careless and shut both their ears to what the world
has to say. All of us are familiar with the saying. “Today’s children are tomorrow’s citizens.” But if today’s children
are smokers, then tomorrow there will be only smoke in the mouth and fire in the stomach. 

Which is the first symptom of the harm that smoking does?

Coughing

Chest burning

Chest pain

Ban smoking

Correct Answer :­Chest burning 

4)

Question Stimulus :­



Read the following passage and answer the question given below:

Today man has reached great heights. He has invented many things previously unknown to him. Moreover, he has
created great progress in fields such as medicine and science, which have helped him to lead a comfortable life.

But man has also created poisons, bombs, guns and lethal weapons too. Also, there are some things which give him
great pleasure but later on prove fatal to mankind.

Taking drugs and smoking are two of the deadly habits man has cultivated. Though drugs have been controlled
down to two percent, it is still on the prowl. But smoking is the worst poison in a person’s life. Though it gives him
great pleasure in the initial stages, as time passes, it will lead to several health hazards. The first symptoms of
smoking are chest burning, asthma, wheezing, cold etc. which cause difficulties in regular breathing. In the end,
the person dies of breathlessness.

Smoking has to be banned in all places. But many people are careless and shut both their ears to what the world
has to say. All of us are familiar with the saying. “Today’s children are tomorrow’s citizens.” But if today’s children
are smokers, then tomorrow there will be only smoke in the mouth and fire in the stomach. 

Which are the branches of study that have helped him to have a comfortable life?

Electronics

Biology

Architecture

Medicine and science

Correct Answer :­Medicine and science 

5)

Question Stimulus :­

Read the following passage and answer the question given below:

Today man has reached great heights. He has invented many things previously unknown to him. Moreover, he has
created great progress in fields such as medicine and science, which have helped him to lead a comfortable life.

But man has also created poisons, bombs, guns and lethal weapons too. Also, there are some things which give him
great pleasure but later on prove fatal to mankind.

Taking drugs and smoking are two of the deadly habits man has cultivated. Though drugs have been controlled
down to two percent, it is still on the prowl. But smoking is the worst poison in a person’s life. Though it gives him
great pleasure in the initial stages, as time passes, it will lead to several health hazards. The first symptoms of
smoking are chest burning, asthma, wheezing, cold etc. which cause difficulties in regular breathing. In the end,
the person dies of breathlessness.

Smoking has to be banned in all places. But many people are careless and shut both their ears to what the world
has to say. All of us are familiar with the saying. “Today’s children are tomorrow’s citizens.” But if today’s children
are smokers, then tomorrow there will be only smoke in the mouth and fire in the stomach. 

Which is the worst habit man is addicted to?

Cigarette smoking

Marijuana

Morphine

Cocaine



Correct Answer :­Cigarette smoking 

Topic:­ General Knowledge
1)

Question Stimulus :­

Nobel Prize is not awarded for_________ . / _________ कॕ ोलए नख़बॕल पॏर灀�ॊर ऺॕ ऺ�ॊोनत नऻॎ ॠ ोकयॊ जॊतॊ ऻॖ।

Physics / भग़ोतकॎ

Chemistry / रऺॊयन

Physiology / षरॎरो�यॊोश�ॊन

Mathematics / गोणत

Correct Answer :­Mathematics / गोणत 

2)

Question Stimulus :­

Which of these states in India has two capitals? / भॊरत कॕ इन रॊ�ख़ॠ म荀� ऺॕ ोकऺ रॊ�﯀ य कॎ दख़ रॊजधॊोनयॊॠ ऻ�?

Himachal Pradesh / ोऻमॊचल �ۀदॕष

Jammu & Kashmir / ज�ॐ एशॠ कĀॎर

Rajasthan / रॊज脀�थॊन

Madhya Pradesh / मĀ�ۀदॕष

Correct Answer :­Jammu & Kashmir / ज�ॐ एशॠ कĀॎर 

3)

Question Stimulus :­

________ is the state flower of Madhya Pradesh. / _______,  मĀ�ۀदॕष कॊ रॊजकॎय पॏÀ� प ऻॖ।

White Lily / ऺूॕद ोललॎ

Rose / गॏलॊब

Lotus / कमल

Jasmine / चमॕलॎ

Correct Answer :­White Lily / ऺूॕद ोललॎ 

4)

Question Stimulus :­

_________ National Park is one of the 18 biosphere reserves of India. / _________ रॊ�� ॎय उĀॊन, भॊरत कॕ 18
जॖशमॠडल 磀�रिशȀ� (ोनचय) म荀� ऺॕ एक ऻॖ।



Panna / पĀॊ

Kanha / कॊĀॊ   

Madhav / मॊधश

Sanjay /  ॠऺजय

Correct Answer :­Panna / पĀॊ 

5)

Question Stimulus :­

First Indian to win an individual gold medal at the Olympic games is ______. / ____________, ओलॠोपक खॕलख़ ॠ म荀�
�豈��गत �णȀ� पदक जॎतनॕ शॊलॕ पऻलॕ भॊरतॎय ऻ�।

Abhinav Bindra / अोभनश ोबॠ�ڀॊ

Leander Paes / लॎएॠ डर पॕऺ

Sushil Kumar /  ॏऺषॎल कॏ मॊर

Vijay Kumar / ोशजय कॏ मॊर

Correct Answer :­Abhinav Bindra / अोभनश ोबॠ�ڀॊ 

6)

Question Stimulus :­

Which is the First Indian Nuclear Reactor? / �ۀथम भॊरतॎय परमॊणॏ 磀�रए裀�र कग़न ऺॊ ऻॖ?

Dhruva / �ڀॏश

Apsara / अĀरॊ

Damini / दॊोमनॎ

None of these / उपरख़� म荀� ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­Apsara / अĀरॊ 

7)

Question Stimulus :­

__________, a town in Dhar district of Madhya Pradesh is also known as Detroit of India. / ________ मĀ �ۀदॕष
कॕ धॊर ोजलॕ म荀� 豈�脀�थत एक षऻर ऻॖ, जख़ भॊरत कॕ डॕट� ॗइट कॕ �प म荀� भॎ जॊनॊ जॊतॊ ऻॖ।

Manawar / मनॊशर

Badnawar / बदनशर

Pithampur / पॎथमपॏर

Mandu / मॊॠडॐ



Correct Answer :­Pithampur / पॎथमपॏर 

8)

Question Stimulus :­

_________ is the highest waterfall in Madhya Pradesh. / _________ , मĀ�ۀदॕष कॊ ऺबऺॕ ऊॠ चॊ जल�ۀपॊत ऻॖ।

Bahuti falls / ब�ोत जल�ۀपॊत

Chachai falls / चचॊई जल�ۀपॊत

Keoti falls / कॕओोत जल�ۀपॊत 

Rajat Prapat falls / रजत �ۀपॊत जल�ۀपॊत 

Correct Answer :­Bahuti falls / ब�ोत जल�ۀपॊत 

9)

Question Stimulus :­

__________ is called “Heart of India”. / ________ कख़ “भॊरत कॊ �दय” कऻॊ जॊतॊ ऻॖ।

Maharashtra / मऻॊरॊ��

Chattisgarh / छĀॎऺगु

Rajasthan / रॊज脀�थॊन            

Madhya Pradesh / मĀ�ۀदॕष

Correct Answer :­Madhya Pradesh / मĀ�ۀदॕष 

10)

Question Stimulus :­

Which of these is not a folk dance form in Madhya Pradesh? / ोन昀�ोल豈�खत म荀� ऺॕ कग़न ऺॎ एक लख़कन॑Ā षॖलॎ, मĀ�ۀदॕष
कॎ नऻॎ ॠ ऻॖ?

Matki / मटकॎ

Gangaur / गणगग़र

Naurata / नग़रॊतॊ

Lavani / लॊशणॎ

Correct Answer :­Lavani / लॊशणॎ 

11)

Question Stimulus :­

___________ is not one of the seven sister states in north eastern India. / ______भॊरत कॕ उĀर पॐशˀ� �ۀदॕषख़ ॠ म荀� ऺॊत
बऻन荀� यॊ  ऺॕशन­ोऺ煀� Ȁऺ� नॊम ऺॕ �ۀोऺ帀� �ۀदॕषख़ ॠ म荀� ऺॕ एक नऻॎ ॠ ऻॖ।



Sikkim / ोऺ豈��ࣀम

Manipur / मोणपॏर

Mizoram / ोमजख़रम

Nagaland / नॊगॊल�ड   

Correct Answer :­Sikkim / ोऺ豈��ࣀम 

12)

Question Stimulus :­

The Indian women’s Hockey team defeated which country to win the  2016 Asian Women's Hockey Champions
Trophy? / भॊरतॎय मोऻलॊ ऻॗकॎ टॎम नॕ 2016 कॕ एोषयॊई मोऻलॊ ऻॗकॎ चॖ豈��यĀ ऺ  ट� ॗफॎ कॕ फॊइनल म荀� ोकऺ दॕष कॎ टॎम कख़
ऻरॊकर चॖ豈��यनोषप जॎतॎ?

Japan / जॊपॊन

Malaysia / मलॕोषयॊ

China / चॎन

South Korea / दो谀�ण कख़磀�रयॊ

Correct Answer :­China / चॎन 

13)

Question Stimulus :­

Vasco da Gama is the largest city of Goa, named after the _________ explorer. / शॊ灀�ख़ ोड गॊमॊ, गख़शॊ कॊ ऺबऺॕ
बीॊ षऻर ऻॖ ोजऺकॊ नॊम एक __________ खख़जकतॊȀ� कॕ नॊम पर रखॊ गयॊ ऻॖ।

Spanish / Āॖोनष

German / जमȀ�न

Portuguese / पॏतȀ�गॊलॎ

Greek / �ॎक

Correct Answer :­Portuguese / पॏतȀ�गॊलॎ 

14)

Question Stimulus :­

_________ river is the Yamuna’s largest tributary. / _________,  यमॏनॊ नदॎ कॎ ऺबऺॕ बीॎ ऺऻॊयक नदॎ ऻॖ।

Tons / टख़ ॠऺ

Ken / कॕन

Hindon / ोऻĀन

Chambal / चॠबल



Correct Answer :­Tons / टख़ ॠऺ  

15)

Question Stimulus :­

One of the 12 Jyotirlingas in India is present in ________ in Madhya Pradesh. / भॊरत म荀� 12 �ख़ोतोलˀ�गख़ ॠ म荀� ऺॕ एक,
मĀ �ۀदॕष कॕ ________ म荀� मग़जॐद ऻॖ।

Rewa / रॎशॊ

Ujjain / उ錀ॖ�न

Sagar / ऺॊगर

Indore / इॠदग़र

Correct Answer :­Ujjain / उ錀ॖ�न 

16)

Question Stimulus :­

Generally, the ___________of every sitting of the Lok Sabha is called question hour. / ऺॊमॊĀ यत: लख़कऺभॊ कॎ
Āकॊल कऻॊ जॊतॊ ऻॖ।ۀ� __________ Āॕक बॖठक कॊۀ�

Rest houƌ / बॊकॎ घॠटॊ

First hour / पऻलॊ घॠटॊ

Second hour / दॐ ऺरॊ घॠटॊ

Last hour / अॠोतम घॠटॊ

Correct Answer :­First hour / पऻलॊ घॠटॊ 

17)

Question Stimulus :­

________ was the first Indian to travel in space. / अॠत磀�र谀� म荀� यॊ�ॊ करनॕ शॊलॕ �ۀथम भॊरतॎय __________ थॕ।

Kalpana Chawla / क歀�नॊ चॊशलॊ

Rakesh Sharma / रॊकॕष षमॊȀ�

Sunitha Williams /  ॏऺनॎतॊ ोशोलय�

Ravish Malhotra / रोशष मĀख़�ॊ

Correct Answer :­Rakesh Sharma / रॊकॕष षमॊȀ� 

18)

Question Stimulus :­

Tomb of Akbar is situated at _________. / अकबर कॊ मकबरॊ, ________ म荀� 豈�脀�थत ऻॖ।



Agra / आगरॊ

Allahabad / इलॊऻॊबॊद

Lucknow / लखनऊ

Meerut / मॕरठ

Correct Answer :­Agra / आगरॊ 

19)

Question Stimulus :­

The Ozone layer restricts_________________. / ओिख़न परत _____ कख़ रख़कतॎ ऻॖ।

Ultraviolet radiation / परॊब�गनॎ ोशोकरण

Infrared radiation / अशर� ोशोकरण

Green radiation / ऻरॎ ोशोकरण

None of these / उपरख़� म荀� ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­Ultraviolet radiation / परॊब�गनॎ ोशोकरण 

20)

Question Stimulus :­

Indian Institute of Forest management is located in ________. / भॊरतॎय शन �ۀबॠधन  ॠऺ脀�थॊन ________ म荀� 豈�脀�थत ऻॖ।

Indore / इॠदग़र

Jabalpur / जबलपॏर

Bhopal / भख़पॊल

Gwalior / �ॊोलयर

Correct Answer :­Bhopal / भख़पॊल 

21)

Question Stimulus :­

___________ is also known as “city of palaces”. / ___________ कख़ “मऻलख़ ॠ कॊ षऻर” कॕ नॊम ऺॕ भॎ जॊनॊ जॊतॊ ऻॖ।

Mangalore / मॠगलग़र

Hubli / �बलॎ

Mysore / मॖ ॐऺर

Bengaluru / ब荀�गलॏ�

Correct Answer :­Mysore / मॖ ॐऺर 



22)

Question Stimulus :­

Sharad Joshi Samman is given by Government of Madhya Pradesh for achievement in the field of ___________.
/ षरद जख़षॎ ऺ�ॊन, मĀ�ۀदॕष ऺरकॊर ��ॊरॊ ___________ कॕ 谀ॕ�� म荀� उपल豈�Ā ऻॕतॐ ोदयॊ जॊतॊ ऻॖ।

Sports / खॕल

Writing / लॕखन

Music /  ॠऺगॎत

Dance / न॑Ā

Correct Answer :­Writing / लॕखन 

23)

Question Stimulus :­

__________ award is presented by the Government of Madhya Pradesh in the field of  Hindustani classical music. /
_________ पॏर灀�ॊर, ोऻĀदॏ Āॊनॎ षॊĀॎय  ॠऺगॎत कॕ 谀ॕ�� म荀� मĀ�ۀदॕष ऺरकॊर ��ॊरॊ ोदयॊ जॊतॊ ऻॖ।

Lata Mangeshkar / लतॊ मॠगॕषकर

Iqbal / इकबॊल

Kabir / कबॎर  

Tansen / तॊनऺॕन   

Correct Answer :­Tansen / तॊनऺॕन    

24)

Question Stimulus :­

Which country won the 2016 Kabaddi World Cup? / ोकऺ दॕष नॕ 2016 कॊ कब񐄀ॎ ोश@� श कप जॎतॊ?

India / भॊरत

Iran / ईरॊन

Japan / जॊपॊन

Bangladesh / बॊॠ�ּנ लॊदॕष

Correct Answer :­India / भॊरत 

25)

Question Stimulus :­

__________  has been the only female President of India. / __________ भॊरत कॎ एकमॊ� मोऻलॊ रॊ�� पोत ऻ�।

Pratibha Patil / �ۀोतभॊ पॊोटल



Indira Gandhi / इॠोदरॊ गॊँधॎ

Sheila Dixit / षॎलॊ दॎो谀�त

Sarojini Naidu / ऺरख़ोजनॎ नॊयडॐ

Correct Answer :­Pratibha Patil / �ۀोतभॊ पॊोटल 

Topic:­ General Computer Knowledge
1)

Question Stimulus :­

In MS­DOS 6.22, which part identifies the product uniquely? / MS‐DOS ϲ.ϮϮ म荀�, ोनĀ न म荀� ऺॕ कग़न
ऺॊ भॊग उ�فخ पॊद कख़ ोशल谀�णतॊ कॕ ऺॊथ ोच豈�Āत करतॊ ऻॖ?

MS

DOS

MS­DOS

6.22

Correct Answer :­6.22 

2)

Question Stimulus :­

To center worksheet titles across a range of cells, you must _______. / ऺॕĀ ऺ  कॎ पॐरॎ र荀�ज म荀� शकȀ� षॎट टॊइोटĀ ऺ  कख़
荀ऺ�टर करनॕ कॕ ोलए आपकख़ ________ ।   

Select the cells containing the title text plus the range over which the title text
is to be centered / टॊइोटल टॕĀ 脀� ट शॊलॎ ऺॕĀ ऺ  तथॊ उऺ र荀�ज कख़ ऺॕलॕĀ ट करनॊ ऻख़गॊ ोजऺ पर टॊइोटल
टॕĀ 脀� ट  荀ऺ�टडȀ�  ोकयॊ जॊनॊ ऻॖ

Widen the columns / कॗलĀ ऺ  कख़ चग़ीॊ करनॊ ऻख़गॊ

Select the cells containing the title text plus the range over which the title text
is to be justified / टॊइोटल टॕĀ 脀� ट शॊलॎ ऺॕĀ ऺ  तथॊ उऺ र荀�ज कख़ ऺॕलॕĀ ट करनॊ ऻख़गॊ ोजऺ पर टॊइोटल टॕĀ 脀� ट
ज豈�煀�फॊई ोकयॊ जॊनॊ ऻॖ

Format the cells with the comma style / ऺॕĀ ऺ  कख़ कॊमॊ 脀� टॊइल ऺॕ फॗम菀�ट करनॊ ऻख़गॊ

Correct Answer :­Select the cells containing the title text plus the range over which
the title text is to be centered / टॊइोटल टॕĀ 脀� ट शॊलॎ ऺॕĀ ऺ  तथॊ उऺ र荀�ज कख़ ऺॕलॕĀ ट करनॊ ऻख़गॊ ोजऺ पर
टॊइोटल टॕĀ 脀� ट  荀ऺ�टडȀ�  ोकयॊ जॊनॊ ऻॖ 

3)

Question Stimulus :­

What is the purpose of ‘Save Workspace’ menu under View Tab of MS Excel (versions 2007 and 2010) / MS Excel
(शिȀ�न 2007 और 2010) कॕ View म荀� ‘Save Workspace’ मॕनॐ कॊ Ā यॊ उ�ॕ�@� य ऻख़तॊ ऻॖ?

It is to save the Excel workbook as a project in a specific folder / यऻ Excel workbook कख़ एक
ोशोषÀ� ट फख़Ā डर म荀� �ۀख़जॕĀ ट कॕ �प म荀� ऺॕश (रो谀�त) करनॕ कॕ ोलए ऻख़तॊ ऻॖ



It is to save multiple Excel workbooks logically into one space, so that it can be retrieved easily while also
restoring the current layout. / यऻ अनॕक Excel workbooks कख़ लॗोजकल �प ऺॕ एक 脀� थॊन पर ऺॕश (रो谀�त) करनॕ
कॕ ोलए ऻख़तॊ ऻॖ, ोजऺऺॕ इऺॕ करॠट लॕआउट कॎ 磀�र脀� टख़磀�रॠग कॕ दग़रॊन भॎ आऺॊनॎ कॕ ऺॊथ पॏन: �ۀॊ�ء त ोक जॊ ऺकॕ 

It is to permit multiple users to work on the Excel workbook at the same time / यऻ Excel
workbook पर एक ऻॎ ऺमय म荀� अनॕक �ۀयख़Ā तॊओॠ कख़ कॊयȀ� करनॕ कॎ  ॏऺोशधॊ दॕनॕ कॕ ोलए ऻख़तॊ ऻॖ

None of the above / उपरख़Ā त म荀� ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­It is to save multiple Excel workbooks logically into one space, so that it can be retrieved easily
while also restoring the current layout. / यऻ अनॕक Excel workbooks कख़ लॗोजकल �प ऺॕ एक 脀� थॊन पर ऺॕश (रो谀�त)
करनॕ कॕ ोलए ऻख़तॊ ऻॖ, ोजऺऺॕ इऺॕ करॠट लॕआउट कॎ 磀�र脀� टख़磀�रॠग कॕ दग़रॊन भॎ आऺॊनॎ कॕ ऺॊथ पॏन: �ۀॊ�ء त ोक जॊ ऺकॕ  

4)

Question Stimulus :­

In MS Word­2007, what is gutter margin? / MS Woƌd‐Ϯ00ϳ म荀� गटर मॊोजȀ�न Ā यॊ ऻख़तॊ ऻॖ?

Margin that is added to the left margin when printing / ो�ۀॠोटॠग कॕ ऺमय बॊईॠ ओर ोदयॊ
जॊनॕ शॊलॊ मॊोजȀ�न

Margin that is added to right margin when printing / ो�ۀॠोटॠग कॕ ऺमय दॊईॠ ओर ोदयॊ जॊनॕ
शॊलॊ मॊोजȀ�न

Margin that is added to the binding side of page when printing / ो�ۀॠोटॠग कॕ ऺमय
बॊइॠोडॠग ऺॊइड कॎ ओर ोदयॊ जॊनॕ शॊलॊ मॊोजȀ�न

Margin that is added to the outside of the page when printing / ो�ۀॠोटॠग कॕ ऺमय पॕज कॕ
बॊऻर कॎ ओर ोदयॊ जॊनॕ शॊलॊ मॊोजȀ�न

Correct Answer :­Margin that is added to the binding side of page when printing / ो�ۀॠोटॠग
कॕ ऺमय बॊइॠोडॠग ऺॊइड कॎ ओर ोदयॊ जॊनॕ शॊलॊ मॊोजȀ�न 

5)

Question Stimulus :­

OSI reference model has how many layers? / OSI रॕफर荀�ऺ मॗडल म荀� ोकतनॎ लॕयर ऻख़तॎ ऻ�?

4

5

6

7

Correct Answer :­7 

6)

Question Stimulus :­

In MS Excel 2003, which of the following will not cut information? / MS EǆĐel Ϯ00ϯ म荀� ोनĀ न
म荀� ऺॕ Ā यॊ इĀ फॗम菀�षन कख़ कट नऻॎ ॠ करॕगॊ?



PƌessiŶg Ctƌl + C / Ctƌl + C दबॊनॊ

SeleĐ�Ŷg Edit>Cut fƌoŵ the ŵeŶu / मॕनॐ ऺॕ Edit>Cut ऺॕलॕĀ ट करनॊ

CliĐkiŶg the Cut ďu�oŶ oŶ the staŶdaƌd ŵeŶu / 脀� ट�डडȀ� मॕनॐ कॕ कट बटन पर 豈��क करनॊ

PƌessiŶg Ctƌl + X / Ctƌl + X दबॊनॊ

Correct Answer :­PƌessiŶg Ctƌl + C / Ctƌl + C दबॊनॊ 

7)

Question Stimulus :­

What is a Firewall in a computer? / कĀ �ء यॐटर म荀� फॗयरशॊल Ā यॊ ऻॖ?

The physical boundary of network / नॕटशकȀ�  कॎ भग़ोतक ऺॎमॊ

An operating system of computer network / कĀ �ء यॐटर नॕटशकȀ�  कॊ एक ऑपरॕोटॠग ोऺ脀� टम

A system designed to prevent unauthorized access / अनोधक॑त एĀ ऺ ॕऺ कॎ रख़कथॊम कॕ ोलए ोडिॊइन ोकयॊ गयॊ
ोऺ脀� टम

A web browser / शॕब �ॊउिर

Correct Answer :­A system designed to prevent unauthorized access / अनोधक॑त एĀ ऺ ॕऺ कॎ रख़कथॊम कॕ ोलए
ोडिॊइन ोकयॊ गयॊ ोऺ脀� टम 

8)

Question Stimulus :­

A word processor would most likely be used to do ___________. / शडȀ�  र कॊऺॕऺॗۀ�  ॠऺभॊोशत
कॊयȀ� ऻख़तॊ ऻॖ ­

keep an account of money spent / Ā यय ोकए गए धन कॊ लॕखॊ­जख़खॊ रखनॊ

do a computer search in media center / मॎोडयॊ  荀ऺ�टर म荀� कĀ �ء यॐटर ऺचȀ� करनॊ

maintain an inventory / इĀ श荀�टरॎ बरकरॊर रखनॊ 

type a biography / बॊयख़�ॊफॎ टॊइप करनॊ

Correct Answer :­type a biography / बॊयख़�ॊफॎ टॊइप करनॊ 

9)

Question Stimulus :­

In MS Excel, you can activate a cell by ___________. / एमएऺ ए�ॕल म荀� आप _____ कॕ ��ॊरॊ ऺॕल
कख़ ए豈�裀�शॕट कर ऺकतॕ ऻ�?

Pressing the Tab key / Tab key दबॊकर  

Clicking the cell / ऺॕल पर 豈��क करकॕ

Pressing an arrow key / arrow key दबॊकर



All of the above / उपरख़Ā त ऺभॎ

Correct Answer :­All of the above / उपरख़Ā त ऺभॎ 

10)

Question Stimulus :­

In MS Word, If you press PgDn Key from the keyboard. It _____. / MS Word म荀�, अगर आप
कॎ बख़डȀ�  ऺॕ PgDn Key दबॊतॕ ऻ�, तख़ यॕ ­

Moves the cursor one line down / क Ȁऺ�र एक लॊइन नॎचॕ प�ॠचॊ दॕतॊ ऻॖ  

Moves the cursor one page down / क Ȁऺ�र कख़ एक पॕज नॎचॕ प�ॠचॊ दॕतॊ ऻॖ

Moves the cursor one screen down / क Ȁऺ�र कख़ एक 脀� �ॎन नॎचॕ प�ॠचॊ दॕतॊ ऻॖ 

Moves the cursor one paragraph down / क Ȁऺ�र कख़ एक पॖरॊ�ॊफ नॎचॕ प�ॠचॊ दॕतॊ ऻॖ 

Correct Answer :­Moves the cursor one screen down / क Ȁऺ�र कख़ एक 脀� �ॎन नॎचॕ प�ॠचॊ दॕतॊ ऻॖ  

11)

Question Stimulus :­

The HTML <canvas> tag is used to _________. / HTML <ĐaŶǀas> tag कॊ उपयख़ग ोकयॊ जॊतॊ ऻॖ ­

Draw graphics on the fly via scripting / flǇ पर 豈�ĀोĀॠग कॕ ��ॊरॊ �ॊोफĀ ऺ  ड� ॗ करनॕ कॕ ोलए

Create frames on the fly via scripting / flǇ पर 豈�ĀोĀॠग कॕ ��ॊरॊ 蜀ॕ�Ā ऺ  ो�एट करनॕ कॕ ोलए

Draw graphics on the basis of HTML code / HTML कख़ड कॕ आधॊर पर �ॊोफĀ ऺ  ड� ॗ करनॕ कॕ ोलए

Create forms for input user information / इĀ पॏट यॐिर इĀ फॗम菀�षन कॕ ोलए फॗĀ ऺ Ȁ� ो�एट करनॕ कॕ
ोलए

Correct Answer :­Draw graphics on the fly via scripting / flǇ पर 豈�ĀोĀॠग कॕ ��ॊरॊ �ॊोफĀ ऺ  ड� ॗ करनॕ
कॕ ोलए 

12)

Question Stimulus :­

DHCP stands for / DHCP कॊ पॐणȀ� 脀� श�प Ā यॊ ऻॖ?

Dynamic Host Control Protocol / डॊयनॕोमक ऻख़脀� ट कॠ ट� ख़ल �ۀख़टख़कॗल

Dynamic Host Configuration Protocol / डॊयनॕोमक ऻख़脀� ट कॗ豈�惀��ॕषन �ۀख़टख़कॗल

Dynamic Hardware Control Protocol / डॊयनॕोमक ऻॊडȀ�शॕयर कॠ ट� ख़ल �ۀख़टख़कॗल

Dynamic Hardware Configuration Protocol / डॊयनॕोमक ऻॊडȀ�शॕयर कॗ豈�惀��ॕषन �ۀख़टख़कॗल

Correct Answer :­Dynamic Host Configuration Protocol / डॊयनॕोमक ऻख़脀� ट कॗ豈�惀��ॕषन �ۀख़टख़कॗल 

13)

Question Stimulus :­



What is the shortcut key to start presentation from current slide of MS Powerpoint 2007? / एमएऺ पॊशरपॗइॠट 2007
म荀�, करॠट (शतȀ�मॊन) 脀� लॊइड ऺॕ �ۀि荀�टॕषन षॏ� करनॕ कॕ ोलए षॗटȀ�कट कॎ ऻॖ ­ 

F3

Alt + F5

Ctrl + F5

Shift + F5

Correct Answer :­Shift + F5 

14)

Question Stimulus :­

Which of the file formats is supported in Windows 7? / ोशॠडख़ि 7 म荀� कग़न ऺॊ फॊइल फॗम菀�ट ऺपख़ट菀�ड ऻख़तॊ ऻॖ?

NTFS

BSD

EXT

All of the Above / उपरख़Ā त ऺभॎ

Correct Answer :­NTFS 

15)

Question Stimulus :­

What is DHCP? / DHCP Ā यॊ ऻॖ?

Domain Host Configuration Program / डख़मॕन ऻख़脀� ट कॗ豈�惀��ॕषन �ۀख़�ॊम

Domain Hybrid Computer Program / डख़मॕन ऻॊइो�ड कĀ �ء यॐटर �ۀख़�ॊम

Dynamic Host Configuration Protocol / डख़मॕन ऻख़脀� ट कॗ豈�惀��ॕषन �ۀख़टख़कॗल

Dynamic Hybrid Computer Program / डॊयनॕोमक ऻॊइो�ड कĀ �ء यॐटर �ۀख़�ॊम

Correct Answer :­Dynamic Host Configuration Protocol / डख़मॕन ऻख़脀� ट कॗ豈�惀��ॕषन �ۀख़टख़कॗल 

16)

Question Stimulus :­

All Computers (Mainframe, Mini or Micro) must have / ऺभॎ कĀ �ء यॐट Ȁऺ� (मॕनॕ蜀ॕ�म, ोमनॎ यॊ मॊइ�ख़) म荀� ____________
 अशĀ ऻख़नॊ चॊोऻए।

ALU / एएलयॐ

Control Unit / कॠ ट� ख़ल यॐोनट

Primary Storage / �ۀॊइमरॎ 脀� टख़रॕज

All of the Above / उपरख़Ā त ऺभॎ



Correct Answer :­All of the Above / उपरख़Ā त ऺभॎ 

17)

Question Stimulus :­

In Linux, what command is used to count the total number of lines, words, and
characters contained in a file? / फॊइल म荀� उपल�ض ध पॠ豈��यख़ ॠ, ष�ض दख़ ॠ तथॊ अ谀�रख़ ॠ कॎ  ॠऺĀ यॊ कॎ गणनॊ करनॕ
कॕ ोलए लॎनĀ ऺ  म荀� ोकऺ कमॊॠड कॊ उपयख़ग ोकयॊ जॊतॊ ऻॖ?

countw

wcount

wc

count p

Correct Answer :­wc 

18)

Question Stimulus :­

In a computer system memory management operations are performed by / कĀ �ء यॐटर
ोऺ脀� टम म荀� मॕमरॎ मॖनॕजम荀�ट ऑपरॕषन ोनĀ न कॕ ��ॊरॊ ोकए जॊतॕ ऻ� ­

User / उपयख़गकतॊȀ�

Power supply / पॗशर ऺ�ء लॊई

Programmer / �ۀख़�ॊमर

Operating System / ऑपरॕोटॠग ोऺ脀� टम

Correct Answer :­Operating System / ऑपरॕोटॠग ोऺ脀� टम 

19)

Question Stimulus :­

What is “Motion Path” in MS PowerPoint­2007? / एमएऺ पॗशर�ء शॊइॠट 2007 म荀�, ‘मख़षन पॊथ’ Ā यॊ
ऻख़तॊ ऻॖ?

A path to move items on a slide / 脀� लॊइड पर आयटĀ ऺ  मॐश करनॕ कॊ पॊथ

A path where PowerPoint file is saved / शऻ पॊथ जऻॊॠ पॗशर�ء शॊइॠट फॊइल रो谀�त कॎ जॊतॎ ऻ�

A path where PowerPoint program is installed / शऻ पॊथ जऻॊॠ पॗशर�ء शॊइॠट �ۀख़�ॊम इॠ脀� टॊल ऻख़तॊ ऻॖ

None of the above / उपरख़Ā त म荀� ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­A path to move items on a slide / 脀� लॊइड पर आयटĀ ऺ  मॐश करनॕ कॊ पॊथ 

20)

Question Stimulus :­



In MS Word, the ability to combine name and addresses with a standard document
is called _________ / MS Woƌd म荀� 脀� ट�डडȀ�  डĀ यॐम荀�ट कॕ ऺॊथ नॊम श पतॊ  ॠऺयख़ोजत करनॕ कॎ 谀�मतॊ Ā यॊ कऻलॊतॎ
ऻॖ?

doĐuŵeŶt foƌŵa迀�Ŷg / डĀ यॐम荀�ट फख़म菀�ोटॠग

dataďase ŵaŶageŵeŶt / डॕटॊबॕऺ मॖनॕजम荀�ट

ŵail ŵeƌge / मॕल मजȀ�

foƌŵ le�eƌs / फॗमȀ� लॕट Ȁऺ�

Correct Answer :­ŵail ŵeƌge / मॕल मजȀ� 

21)

Question Stimulus :­

In MS­DOS, what command you will use to display system date? / MS‐DOS म荀�, आप ोऺ脀� टम
डॕट ोड脀� �ء लॕ करनॕ कॕ ोलए ोकऺ कमॊॠड कॊ उपयख़ग कर荀� गॕ?

Date

Ver

Disk

Format

Correct Answer :­Date 

22)

Question Stimulus :­

The use of <EMBED…> tag is ___________. / <EMBED…> tag  कॊ उपयख़ग ऻॖ ­

It displays server information / यऻ ऺशȀ�र इĀ फॗम菀�षन कख़ ोड脀� �ء लॕ करतॊ ऻॖ

It puts a server plugin in the page / यऻ ऺशȀ�र �ء लगइन कख़ पॕज म荀� रखतॊ ऻॖ

It puts a browser plugin in the page / यऻ �ॊउिर �ء लगइन कख़ पॕज म荀� रखतॊ ऻॖ

All of the above / उपरख़� ऺभॎ

Correct Answer :­It puts a browser plugin in the page / यऻ �ॊउिर �ء लगइन कख़ पॕज म荀� रखतॊ ऻॖ 

23)

Question Stimulus :­

The <nav> element (Navigation Element) defines / <Ŷaǀ> एलॎम荀�ट (नॕोशगॕषन एलॎम荀�ट) प磀�रभॊोहत
करतॊ ऻॖ ­

A set of graphics / �ॊोफĀ ऺ  कॕ ऺॕट कख़

A set of websites / शॕबऺॊइट्ऺ कॕ ऺॕट कख़



A set of navigation pages / नॕोशगॕषन पॕजॕि कॕ ऺॕट कख़

A set of navigation links / नॕोशगॕषन ोलॠĀ ऺ  कॕ ऺॕट कख़

Correct Answer :­A set of navigation links / नॕोशगॕषन ोलॠĀ ऺ  कॕ ऺॕट कख़ 

24)

Question Stimulus :­

Free of cost repair of software bug available at Internet is called ______. / इॠटरनॕट पर उपल�ض ध ऺॗĀशॕयर बग कॊ
ोन:षॏĀ क 磀�रपॕयर ________ कऻलॊतॊ ऻॖ।

Version / शजȀ�न

Add­on / एड­ऑन

Tutorial / Āॐटख़磀�रयल

Patch / पॖच

Correct Answer :­Patch / पॖच 

25)

Question Stimulus :­

IŶ LiŶuǆ, ǁhat ĐoŵŵaŶd is used to ƌeŵoǀe files? / लॎनĀ ऺ  म荀� फॊइĀ ऺ  कख़ ऻटॊनॕ कॕ ोलए ोकऺ कमॊॠड कॊ
उपयख़ग ोकयॊ जॊतॊ ऻॖ?

dŵ

Rm

Delete

erase

Correct Answer :­Rm 

Topic:­ General Logical Reasoning
1)

Question Stimulus :­

A certain recruitment examination has three sections viz., Analytical (40 marks), Logical (50 marks) and
Numerical (60 marks). Only the candidates scoring a total of above 80 % are short­listed. Sheela got 35 marks
in the Analytical section and 60 % marks in the Logical section. State the minimum score that she has to
obtain in the Numerical section to appear in the short­list? / ोकऺॎ भतˀ� परॎ谀�ॊ म荀� तॎन खॠड ऻ� ोश淀ॕ�हणॊ尀�क (40
अॠक), तॊोकȀ� क(50 अॠक) और  ॠऺ蹀�ॊतमक(60 अॠक)। कॕशल 80% कॕ ऊपर 灀�ख़र करनॕ शॊलॕ अĀथˀ� अ歀� ॐऺोचत ोकयॕ
जॊतॕ ऻ�। षॎलॊ नॕ ोश淀ॕ�हणॊ尀�क अनॏभॊग म荀� 35 अॠक �ۀॊĀ ोकयॕ और तॊोकȀ� क खॠड म荀� 60% अॠक �ۀॊĀ ोकयॕ। शख़ 惀�ॐनतम
灀�ख़र बतॊइयॕ जख़ अ歀� ॐऺोचत ऻख़नॕ कॕ ोलयॕ उऺॕ  ॠऺ蹀�ॊतमक खॠड म荀� �ۀॊĀ करनॕ ऻ�?

40

45

50



55

Correct Answer :­55 

2)

Question Stimulus :­

Complete the series choosing the missing number: / लॏĀ  ॠऺ蹀�ॊ चॏनकर �॑ހॠखलॊ कख़ पॐरॊ कॎोजए: 
28, 33, 31, 36, ______, 39

33

34

35

38

Correct Answer :­34 

3)

Question Stimulus :­

Two years ago, a father was 5 times his son's age. Five years hence, the father's age will be thrice his son's age.
What is the present age of the father? / दख़ शहȀ� पॐशȀ�, एक ोपतॊ अपनॕ बॕटॕ कॎ आयॏ कॕ पॊँच गॏनॊ थॕ। पॊँच शहр� कॕ बॊद,
ोपतॊ कॎ आयॏ उनकॕ बॕटॕ कॎ आयॏ कॎ तॎन गॏनॊ ऻख़ जॊयॕगॎ। ोपतॊ कॎ शतȀ�मॊन आयॏ 諀�ॊ ऻॖ?

35 years

37 years

40 years

42 years

Correct Answer :­37 years 

4)

Question Stimulus :­

In the following list of numerals, / अॠकख़ कॎ ोन昀�  ॐऺचॎ म荀�, 

7897653428972459297647

Which figures have an equal frequency? / ोकन  ॠऺ蹀�ॊओॠ कॎ बॊरॠबॊरतॊ बरॊबर ऻॖ?

2, 5, 3

2, 4, 5

3, 7, 5

8, 6, 5

Correct Answer :­8, 6, 5 

5)



Question Stimulus :­

The series given below contains a sequence of numbers. Identify the INCORRECT combination: / नॎचॕ
दॎ गई �ހॠखलॊ म荀�  ॠऺ蹀�ॊओॠ कॊ �म उप豈�脀�थत ऻॖ। गलत  ॠऺयख़जन पऻचॊोनयॕ:

2, 5, 10, 17, 26, 37, 51, 65

17

26

51

65

Correct Answer :­51 

6)

Question Stimulus :­

Tap­A fills a tank in 5 hrs, Tap­B fills the same tank in 15 hrs, and Tap­C empties the same tank in 10 hrs. With all
the three taps open together, the tank will fill in / नल­A ट�क कख़ 5 घĀख़ॠ म荀� भरतॊ ऻॖ, नल­ B उऺॎ ट�क कख़ 15 घĀख़ॠ म荀�
भरतॊ ऻॖ, और नल­ C उऺॎ ट�क कख़ 10 घĀख़ॠ म荀� खॊलॎ करतॊ ऻॖ। तॎनख़ ॠ नलख़ ॠ कख़ एक ऺॊथ खख़लनॕ पर, ट�क ोकतनॕ  ऺमय म荀�
भरॕगॊ

10 hrs / 10 घॠटॕ

6 hrs / 6 घॠटॕ

5 hrs / 5 घॠटॕ

never fill / कभॎ नऻॎ ॠ भरॕगॊ

Correct Answer :­6 hrs / 6 घॠटॕ 

7)

Question Stimulus :­



Correct Answer :­  

8)

Question Stimulus :­

Three boys together have 82 marbles. The ratio of the marbles of Alan and Ben is 2 : 5. The ratio of the
marbles of Ben and Chris is 3 : 4. How many marbles does Chris have? / तॎन लीकख़◌ॠ  कॕ पॊऺ ोमलॊकर 82
मॊबȀ�ल ऻ�। एलन और बॕन कॎ मॊबȀ�लख़ ॠ कॊ अनॏपॊत 2 : 5 ऻॖ। बॕन और ो�ऺ कॎ मॊबȀ�लख़ ॠ कॊ अनॏपॊत 3 : 4 ऻॖ। ो�ऺ कॕ पॊऺ
ोकतनॎ मॊबȀ�ल ऻ�?

44

42

40

36

Correct Answer :­40 

9)



Question Stimulus :­

If RISK is coded 2398 and 1234567 is coded PRIVATE, then how is RIVETS coded? / यिद RISK कख़ 2398 ऺॕ
कख़ोडत ोकयॊ जॊतॊ ऻॖ और 1234567 कख़ PRIVATE ऺॕ कख़ोडत ोकयॊ जॊतॊ ऻॖ, तख़ RIVETS कख़ कॖऺॕ कख़ोडत ोकयॊ
जॊतॊ ऻॖ?

596432

798654

234769

357697

Correct Answer :­234769 

10)

Question Stimulus :­



Correct Answer :­  

11)

Question Stimulus :­

Complete the series choosing the missing letter/s: / लॏĀ अ谀�र चॏनकर �॑ހॠखलॊ कख़ पॐरॊ कॎोजए : 
__pqq __ __ qq __ p __ qqpq __ qp

q, q, p, q, q, q

q, p, q, p, q, p

p, q, p, q, p, p

p, p, p, p, q, q

Correct Answer :­q, q, p, q, q, q 

12)

Question Stimulus :­

The average marks of each section with 30, 45, 52 students are 30, 45, 41, respectively. What is the average
marks of all the sections combined? / 30, 45, 52 ोशĀॊोथȀ�यख़ ॠ शॊलॕ �ۀĀॕक अनॏभॊग कॕ औऺत अॠक �मष: 30, 45, 41 ऻ�।

ॠऺयॏ� ऺभॎ अनॏभॊगख़ ॠ कॕ औऺत अॠक 諀�ॊ ऻ�?

37.5

39.8

43.2

44

Correct Answer :­39.8 

13)

Question Stimulus :­

Arun, Bashir, Charles, Dhanya, and Elaine are sitting in a row. Charles is exactly in the middle, and Bashir is
at one end and next to Arun. Who is at the other end (he/she is next to Elaine)? / अ�न, बषॎर, चॊĀȀ�, धॊ惀�ॊ
और इलॊएन एक पॠ豈�� म荀� बॖठॕ ऻ�। चॊĀȀ� ठॎक बॎच म荀� ऻॖ, और बषॎर एक ोऺरॕ पर ऻॖ और अ�न कॕ बगल म荀� ऻॖ। दॐ ऺरॕ
ोऺरॕ( इलॊएन कॕ बगल म荀�) म荀� कग़न ऻॖ?



Dhanya / धॊ惀�ॊ

Bashir / बषॎर

Charles / चॊĀȀ�

Cannot be determined / नऻॎ ॠ ोनधॊȀ�磀�रत ोकयॊ जॊ ऺकतॊ

Correct Answer :­Dhanya / धॊ惀�ॊ 

14)

Question Stimulus :­

7272 + 2139 ­ 489 + (3 × 5 × 4) ­ 32 = ?

7812

8950

6750

8835

Correct Answer :­8950 

15)

Question Stimulus :­

If wall is called roof, windows are called doors, ventilators are called chimneys, floors are called ventilators and
chimneys are called floors, what is the outlet for the smoke from the kitchen? / योद wall को roof कहते ह⚴,
windows को doors कहते ह⚴, ventilators को chimneys कहते ह⚴, floors को ventilators कहते ह⚴ और chimneysको floor,
रसोई म장� से धुएं का िनकास कहाँ से होता है?

Chimneys

Ventilators

Windows

Floors

Correct Answer :­Floors 

16)

Question Stimulus :­

The series given below contains a sequence of alphabets and numbers. Identify the INCORRECT
combination: / नॎचॕ दॎ गई �॑ހॠखलॊ म荀� अ谀�रख़ ॠ और  ॠऺ蹀�ॊओॠ कॊ �म उप豈�脀�थत ऻॖ। गलत  ॠऺयख़जन पऻचॊोनयॕ:

i.uumin9i3uji      ii. uumin9i3uji       iii. uumin9i3uji     iv. uumuin9i3uji

i

ii

iii



iv

Correct Answer :­iv 

17)

Question Stimulus :­

At a construction site, 200 workers were working on a building which is scheduled to end within 250 days. After 30
days, 20 workers leave the job. How many more days will it take to complete the work? / एक ोनमॊȀ�ण 脀�थल पर, 200
कमȀ�चॊरॎ एक इमॊरत पर कॊम कर रऻॕ थॕ ोजऺॕ 250 ोदनख़ ॠ म荀� ऺमॊĀ ऻख़नॊ थॊ। 30 ोदनख़ ॠ कॕ बॊद, 20 कमȀ�चॊरॎ नग़करॎ छख़ी दॕतॕ
ऻ�। कॊयȀ� ऺमॊĀ ऻख़नॕ म荀� और ोकतनॕ ोदन लग荀�गॕ?

245 days   / 245 ोदन

198 days  / 198 ोदन

190 days   / 190 ोदन

186 days   / 186 ोदन

Correct Answer :­245 days   / 245 ोदन 

18)

Question Stimulus :­

The number of times 819 is divided by 69, so that the remainder is less than 69 is / 819 कख़ 69 ऺॕ ोकतनॎ बॊर
ोशभॊोजत ोकयॊ जॊयॕ ोजऺऺॕ षॕह, 69 ऺॕ कम ऻख़_____

11

12

13

14

Correct Answer :­11 

19)

Question Stimulus :­

If (x)3 / 4 = (x)2 , then what number should replace 'x'? / योद (x)3 / 4 = (x)2, तख़ ोकऺ  ॠऺ蹀�ॊ कख़ 'x' कख़
?ोत脀�थॊोपत करनॊ चॊोऻयॕۀ�

4

6

1

2

Correct Answer :­4 

20)



Question Stimulus :­

Find the odd one out: / एक ोशहम �ॊत कॎोजए:

Water and Bucket / पॊनॎ और बॊ�ॎ

Ink and Inkpot / Āॊऻॎ और दशॊत

Oil and Lamp / तॕल और लॖ�

Pen and Nib / कलम और नख़ ॠक

Correct Answer :­Pen and Nib / कलम और नख़ ॠक 

21)

Question Stimulus :­

A seller sold 60 % of his articles for 20 % profit, while the rest at 10 % profit. Find the total profit percent. /
एक ोश�ॕतॊ नॕ अपनॎ 60% शĀॏएँ 20% लॊभ म荀� बॕचॎ, जबोक बॊकॎ कख़ 20% लॊभ पर बॕचॊ। कॏ ल लॊभ �ۀोतषत
ोनकॊोलयॕ।

15 %

16 %

20 %

25 %

Correct Answer :­16 % 

22)

Question Stimulus :­

(9/3) × 8 + (6 × 2) / 4 ­ (35/7) × 6 = ?

­3

8

5

7

Correct Answer :­­3 

23)

Question Stimulus :­

A sum of Rs. 500 is invested at a certain rate of compound interest per annum. The total interest earned in
two years is Rs. 105. What is the rate of compound interest? / 500 � कॎ रॊोष �ۀोतशहȀ� ोकऺॎ ोनोĀत च�श॑豈�帀�
掀�ॊि कॎ दर पर ोनशॕोषत कॎ गई। दख़ शहр� म荀� कमॊयॊ गयॊ कॏ ल 掀�ॊि 105� ऻॖ। च�श॑豈�帀� 掀�ॊि कॎ 諀�ॊ दर ऻॖ?

4 % per annum / 4% �ۀोतशहȀ�

5 % per annum / 5 % �ۀोतशहȀ�



8 % per annum / 8 % �ۀोतशहȀ�

10 % per annum / 10 % �ۀोतशहȀ�

Correct Answer :­10 % per annum / 10 % �ۀोतशहȀ� 

24)

Question Stimulus :­

Which of the phrases can be formed from all the alphabets of the word “deep discount”? / ष挀� “deep
discount” कॕ ऺभॎ अ谀�रख़ ॠ ऺॕ ोन昀� म荀� ऺॕ कग़न ऺॊ शॊ諀�ॊॠष बन ऺकतॊ ऻॖ?

Decides upon

Encoded inputs

Deduce points

Inducted post

Correct Answer :­Deduce points 

25)

Question Stimulus :­

If GARDEN is coded 20269232213, then how is FLOWER coded? / यिद GARDEN कख़ 20269232213 ऺॕ कख़ोडत
ोकयॊ जॊतॊ ऻॖ, तख़ FLOWER कख़ कॖऺॕ कख़ोडत ोकयॊ जॊतॊ ऻॖ?

211512459 

2115124229

2115124218

211412228

Correct Answer :­2115124229 

Topic:­ General Management
1)

Question Stimulus :­

Financial Accounting deals with / ोशĀॎय लॕखॊॠकन, इऺऺॕ ऺरख़कॊर रखतॕ ऻ�:

Recording of transactions. / लॕन­दॕन कॊ अोभलॕखन

Recording, classifying and summarizing the transactions. / लॕन­दॕन कॊ अोभलॕखन, शगˀ�करण एशॠ ऺॊरॊॠष।

Preparation of financial statements only. / कॕशल ोशĀॎय ोशशरणख़ ॠ कॎ तॖयॊरॎ।

Book keeping and preparation of financial statements. /  ोशĀॎय ोशशरणख़ ॠ कॎ तॖयॊरॎ एशॠ बऻॎखॊतॊ

Correct Answer :­Book keeping and preparation of financial statements. /  ोशĀॎय ोशशरणख़ ॠ कॎ तॖयॊरॎ एशॠ
बऻॎखॊतॊ 

2)



Question Stimulus :­

_______________  refers to the time period within which investment in fixed assets is recovered /
_______________, उऺ  ऺमय अशोध कख़  ॠऺदोभȀ�त करतॊ ऻॖ ोजऺम荀� 脀�थॊयॎ प磀�र ॠऺप豈��فخ त कॕ ोनशॕष कख़ पॏन:�ۀॊĀ ोकयॊ जॊतॊ ऻॖ।

Payback period / भॏगतॊन शॊपऺॎ (पॕ बॖक) कॎ अशोध

Discounted cash flow / बट् टॊगत नकद �ۀशॊऻ

Average rate of return / �ۀोतफल कॎ औऺत दर

NPV / एनपॎशॎ

Correct Answer :­Payback period / भॏगतॊन शॊपऺॎ (पॕ बॖक) कॎ अशोध 

3)

Question Stimulus :­

To retain which of the following resources are organizations changing their HR policies? / ोन昀� म荀� ऺॕ कग़न ऺॕ
ॠऺऺॊधन कख़ बनॊयॕ रखनॕ कॕ ोलए  ॠऺ脀�थॊन अपनॎ एचआर नॎोतयख़ ॠ कख़ बदल रऻॕ ऻ�?

Capital / पॐँजॎ

Technology / �ۀग़Āख़ोगकॎ

Employees / कमȀ�चॊरॎ

Assets /  ॠऺपोĀ

Correct Answer :­Employees / कमȀ�चॊरॎ 

4)

Question Stimulus :­

Which of the following are best associated with managerial technical skills?/ ोन昀� म荀� ऺॕ कग़न ऺबऺॕ अ�ॎ
?�बॠधकॎय तकनॎकॎ कग़षल कॕ ऺॊथ जॏीॕ रऻतॕ ऻۀ�

Ability to carry out specific activity/  जख़ ोशोष� गोतोशोध कख़ करनॕ कॎ 谀�मतॊ रखतॕ ऻ�

Ability of person to work well with other people in a group  / ऺमॐऻ म荀� अ惀� लख़गख़ ॠ कॕ ऺॊथ अ�ॎ तरऻ ऺॕ
कॊयȀ� करनॕ कॎ 谀�मतॊ शॊलॕ �豈��

Ability to think and conceptualise abstract situation / जख़ ऺॊर 豈�脀�थोत कख़ ऺख़चनॕ और धॊरणॊ बनॊनॕ कॎ
谀�मतॊ रखतॕ ऻ�

Ability to find solutions to problems / जख़ ऺमĀॊओॠ कॕ ऺमॊधॊन खख़जनॕ कॎ 谀�मतॊ रखतॕ ऻ�

Correct Answer :­Ability to carry out specific activity/  जख़ ोशोष� गोतोशोध कख़ करनॕ कॎ 谀�मतॊ रखतॕ ऻ� 

5)

Question Stimulus :­

Which of the following involves measurement and correction of performance to achieve the organizational
goals? / ोन昀� म荀� ऺॕ कग़न  ॠऺगठनॊ尀�क ल贀�ख़ॠ कख़ �ۀॊĀ करनॕ कॕ ोलए ोनĀॊदन कॕ मॊपन और  ॠऺषख़धन कख़ षॊोमल करतॊ
ऻॖ?



Planning / ोनयख़जन

Leading / नॕत॑Ā

Organizing  / आयख़जन

Controlling / ोनयॠ�ण

Correct Answer :­Controlling / ोनयॠ�ण 

6)

Question Stimulus :­

I­A, II­C, III­B

I­A, II­B, III­C

I­C, II­A, III­B

I­B, II­C, III­A

Correct Answer :­I­C, II­A, III­B 

7)

Question Stimulus :­

Evaluation of performance and implementation of corrective actions to achieve goals is known as / ल贀�ख़ॠ कख़
 ॊĀ करनॕ कॕ ोलए, ोनĀॊदन औरۀ� ॏऺधॊरॊ尀�क कॊयр� कॕ कॊयॊȀ�惀�यन कॕ मॐ�ॊॠकन कख़ ________________कऻतॕ ऻ�।

Co­ordination / ऺम惀�य

Organizing / आयख़जन

Leading / नॕत॑Ā

Controlling / ोनयॠ�ण

Correct Answer :­Controlling / ोनयॠ�ण 

8)

Question Stimulus :­



When you prepare final accounts, where will you transfer bad debts recovered account? / जब आप अॠोतम लॕखॕ
कख़ तॖयॊर करतॕ ऻ�, तब आप पॏनॡ�ۀॊĀ �ए बॕड डॕ�ض ट (अषख़Ā य ऋण) लॕखॕ कख़ कऻॊँ 脀�थॊनॊॠत磀�रत कर荀� गॕ।

Profit and loss account / लॊभ­ऻॊोन लॕखॊ

Provision for bad debt account /  बॕड डॕ�ض ट (बॏरॕ ऋण) लॕखॊ कॕ ोलए �ۀॊशधॊन म荀�

Debtors account / दॕनदॊर लॕखॊ म荀�

Account receivable / �ۀॊ戀� लॕखॊ म荀�

Correct Answer :­Profit and loss account / लॊभ­ऻॊोन लॕखॊ 

9)

Question Stimulus :­

Managers who are involved in the  strategic planning exercise operate in an environment of / शॕ �ۀबॠधक,
जख़ यॏ豈�Ā तपॐणȀ� ोनयख़जन अĀॊऺ म荀� षॊोमल ऻख़तॕ ऻ� इऺ शॊतॊशरण म荀� कॊयȀ� करतॕ ऻ� ­

Uncertainty / अोनोĀततॊ

Certainty / ोनोĀततॊ

Normal / ऺॊमॊ惀�

None of the above / उपयॏȀ�� म荀� ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­Uncertainty / अोनोĀततॊ 

10)

Question Stimulus :­

What is the process of measuring and monitoring performance, comparing it with the set goals and making
course­corrections known as? / ोनĀॊदन पर ोनगरॊनॎ रखनॊ और मॊपन करनॊ, ोनधॊȀ�磀�रत ल贀�ख़ॠ कॕ ऺॊथ इऺकॎ
तॏलनॊ करनॊ और  ॏऺधॊरॊ尀�क कॊरȀ�शॊई करनॕ कॎ �ۀो�यॊ कख़ ोकऺ नॊम ऺॕ जॊनॊ जॊतॊ ऻॖ?

Planning / यख़जनॊ

Leading / नॕत॑Ā

Controlling / ोनयॠ�ण करनॊ

Organizing / �श豈�脀�थत करनॊ

Correct Answer :­Controlling / ोनयॠ�ण करनॊ 

11)

Question Stimulus :­

According to the Financial Accounting Standards Board (FASB), which of the following is a cash flow from a
financing activity? / ोशĀॎय लॕखॊॠकन मॊनक बख़डȀ�  (FASB) कॕ अनॏऺॊर, ोन昀� म荀� ऺॕ कग़न ोशĀॎय गोतोशोधयख़ ॠ ऺॕ एक
नकदॎ �ۀशॊऻ ऻॖ?

cash outflow to the government for taxes / करख़ ॠ कॕ ोलए ऺरकॊर कख़ नकदॎ बोऻ�ۀशॊऻ



cash outflow to shareholders as dividends / लॊभॊॠष कॕ �प म荀� षॕयरधॊरकख़ ॠ कख़ नकदॎ बोऻ�ۀशॊऻ

cash outflow to lenders as interest / 掀�ॊज कॕ �प म荀� ऋणदॊतॊओॠ कख़ नकदॎ बोऻ�ۀशॊऻ

cash outflow to purchase bonds issued by another company / अ惀� कॠ पनॎ ��ॊरॊ जॊरॎ खरॎद बॠधप� कख़
नकदॎ बोऻ�ۀशॊऻ

Correct Answer :­cash outflow to shareholders as dividends / लॊभॊॠष कॕ �प म荀� षॕयरधॊरकख़ ॠ कख़ नकदॎ
बोऻ�ۀशॊऻ 

12)

Question Stimulus :­

The accounting entries are recorded as per the generally accepted accounting principles. If any of these
principles is violated or ignored, errors resulting from such violation are known as_______________. / लॕखॊ
ोशो� कॊ अोभलॕखन, ऺशȀ� �ॎकॊयȀ� लॕखॊकरण ोऺ帀�ॊॠत कॕ अनॏऺॊर ोकयॊ जॊतॊ ऻॖ। योद इनम荀� ऺॕ ोकऺॎ ोऺ帀�ॊॠत कॊۀ�
उĀॠघन यॊ निरअॠदॊि ोकयॊ जॊतॊ ऻॖ, तब इऺ उĀॠघन कॕ कॊरण �ۀॊĀ �ॏोटयख़ ॠ कख़ _______________ कऻॊ जॊतॊ ऻॖ।

Errors of omission / चॐक कॎ �ॏोटयॊॠ

Errors of negligence / लॊपरशॊऻॎ कॎ �ॏोटयॊॠ

Errors of principle / ोऺ帀�ॊॠत कॎ �ॏोटयॊॠ

Compensating error / �ۀोतपॐरक �ॏोटयॊॠ

Correct Answer :­Errors of negligence / लॊपरशॊऻॎ कॎ �ॏोटयॊॠ 

13)

Question Stimulus :­

Which of the following selection tests is conducted by organization to measure the ability to learn a given job,
when given adequate training? / ोन昀� म荀� ऺॕ ोकन चयन परॎ谀�ॊओॠ कख़ उोचत परॎ谀�ण दॕनॕ कॕ बॊद, ोदए गए कॊयȀ� कख़ करनॕ
कॎ 谀�मतॊ कॕ मॊपन कॕ ोलए  ॠऺगठन ��ॊरॊ आयख़ोजत ोकयॊ जॊतॊ ऻॖ?

Situational test / 豈�脀�थोत परॎ谀�ण

Achievement test / उपल豈�Ā परॎ谀�ण

Aptitude test / �झॊन (अोभ谀�मतॊ) परॎ谀�ण

Intelligence test / बॏ豈�帀� परॎ谀�ण

Correct Answer :­Aptitude test / �झॊन (अोभ谀�मतॊ) परॎ谀�ण 

14)

Question Stimulus :­

‘External information’ originates outside the organization. Which of the following is an example of external
information in an organization? / 'बॊऻरॎ  ॐऺचनॊ'  ॠऺगठन ऺॕ बॊऻर उĀĀ ऻख़तॎ ऻॖ। ोन昀� म荀� ऺॕ कग़न,  ॠऺगठन म荀� बॊऻरॎ

ॐऺचनॊ कॊ एक उदॊऻरण ऻॖ?

Cost and selling price of the company’s item / कॠ पनॎ कॕ मद कॎ लॊगत और ोब�ॎ मॐ�



Customer feedback forms, filled­in / ूॗमȀ� म荀� भरॊ गयॊ, �ॊऻकख़ ॠ कॎ �ۀोतो�यॊ

Salesperson Quotas / ोश�ॕतॊ कख़टॊ

Quantity of an item in hand or in inventory / ऻॊथ म荀� यॊ  ॐऺचॎ म荀� शĀॏओॠ कॎ मॊ�ॊ

Correct Answer :­Customer feedback forms, filled­in / ूॗमȀ� म荀� भरॊ गयॊ, �ॊऻकख़ ॠ कॎ �ۀोतो�यॊ 

15)

Question Stimulus :­

No message can be understood clearly without careful listening and it is one of the most essential ingredients
of effective communication. Which of the following is not an effective listening technique? / कख़ई भॎ  ॠऺ दॕष ोबनॊ
ĀॊनपॐशȀ�क  ॏऺनॕ, ऺमझॊ नऻॎ ॠ जॊतॊ ऻॖ और ऺॊथ ऻॎ यॕ �ۀभॊशॎ  ॠऺचॊर कॕ ऺबऺॕ अऻम मॏ��ख़ ॠ म荀� ऺॕ एक ऻॖ। ोन昀� म荀� ऺॕ कग़न

ॏऺननॕ कॎ एक �ۀभॊशॎ तकनॎक नऻॎ ॠ ऻॖ?

Avoiding eye contact / आँख कॕ  ॠऺपकȀ�  ऺॕ बचनॊ

Judging the content of the message, but not the weakness of the speaker /  ॠऺ दॕष कॎ ऺॊम�ॎ कॊ आकलन
करनॊ, पर श�ॊ कॎ कमिख़磀�रयख़ ॠ कॊ आकलन न करनॊ।

Exhibiting affirmative nods and appropriate facial gestures / ऺकॊरॊ尀�कतॊ ऺॕ ोऺर ोऻलॊ दॕनॊ और चॕऻरॕ कॕ
उोचत इषॊरख़ ॠ कॊ �ۀदषȀ�न करनॊ।

Avoiding premature evaluation / ऺमय ऺॕ पऻलॕ मॐ�ॊॠकन ऺॕ बचनॊ

Correct Answer :­Avoiding eye contact / आँख कॕ  ॠऺपकȀ�  ऺॕ बचनॊ 

16)

Question Stimulus :­

Accounting concept which says business will run for a long period of time / शऻ लॕखॊॠकन अशधॊरणॊ, जख़ बतॊतॎ ऻॖ
ोक �ॊपॊर एक लॠबॎ अशोध कॕ ोलए चलॕगॊ :

Going concern concept /   ॏऺनॊम­�ۀोतÀ� ठॊन अशधॊरणॊ

Separate entity concept / प॑थक  ॠऺ脀�थॊ अशधॊरणॊ

Cost concept / लॊगत अशधॊरणॊ

Money measurement concept / मॏ�ڀॊमॊपन अशधॊरणॊ

Correct Answer :­Going concern concept /   ॏऺनॊम­�ۀोतÀ� ठॊन अशधॊरणॊ 

17)

Question Stimulus :­

WheŶ a peƌsoŶ has to fulfill tǁo oƌ ŵoƌe ĐoŶtƌas�Ŷg sets of eǆpeĐta�oŶs, ǁhat is the outĐoŵe? / जब एक �豈�� कख़
दख़ यॊ अोधक ोशहम ;ोशपयॊȀ�ऺॎͿ उ�ॎदख़ ॠ कख़ पॐरॊ करनॊ ऻख़तॊ ऻॖ, तब प磀�रणॊम Ā यॊ ऻख़गॊ?

Role clarity / भॐोमकॊ Ā�तॊ

Role conflict / भॐोमकॊ  ॠऺघहȀ�



Role perception / भॐोमकॊ धॊरणॊ

Confusion / ोश݀�ॊ豈���

Correct Answer :­Role conflict / भॐोमकॊ  ॠऺघहȀ� 

18)

Question Stimulus :­

What a company does best is known as / जख़ एक कॠ पनॎ ऺशȀ��ॕހ� करतॎ ऻॖ उऺॕ __________ कॕ �प म荀� जॊनॊ जॊतॊ ऻॖ।

Utility / उपयख़ोगतॊ

Core competency / मॐल ऺ谀�मतॊ

Value chain  / मॐ� �॑ހॠखलॊ

Competition  / �ۀोतयख़ोगतॊ

Correct Answer :­Core competency / मॐल ऺ谀�मतॊ 

19)

Question Stimulus :­

___________ represents the traditional approach to managing and with coerced, controlled and directed people. /
___________,  मजबॐर, ोनयॠो�त और ोनद菀�ोषत लख़गख़ ॠ कॕ ऺॊथ श �ۀबॠोधत करनॕ कॕ ोलए पॊरĀ प磀�रक Āो�कख़ण कख़ �ۀदोषȀ�त करतॊ
ऻॖ।

TheoƌǇ Y of Mc.Gregor / मॖक�ॕगर कॊ Y ोऺ帀�ॊॠत

TheoƌǇ X of MĐ.Gƌegoƌ / मॖक�ॕगर कॊ X ोऺ帀�ॊॠत

Both a aŶd ď / दख़नख़ ॠ a और ď

NoŶe of the aďoǀe / उपरख़� म荀� ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­TheoƌǇ X of MĐ.Gƌegoƌ / मॖक�ॕगर कॊ X ोऺ帀�ॊॠत 

20)

Question Stimulus :­

Which of the following do not constitute current liabilities? / ोन昀� म荀� ऺॕ कग़न ऺॊ चॊलॐ दॕनदॊ磀�रयख़ ॠ कॊ गठन नऻॎ ॠ
करतॊ ऻॖ?

Trade creditors / �ॊपॊर लॕनदॊर

Outstanding expenses / बकॊयॊ �य

Proposed dividends / �ۀĀॊोशत लॊभॊॠष

Debtors / दॕनदॊर

Correct Answer :­Debtors / दॕनदॊर 

21)



Question Stimulus :­

The process of identifying and selecting a course of action to solve the problem is known as / ोकऺॎ ऺमĀॊ कख़
ऻल करनॕ कॕ ोलयॕ, कॊयȀ�ोशोध कॎ पऻचॊन करनॕ और चॏननॕ कॎ �ۀो�यॊ कऻलॊतॎ ऻॖ ­

Decision making / ोनणȀ�यन

Planning / यख़जनॊ

Organizing /  आयख़जन

Co­Ordination / ऺम惀�य

Correct Answer :­Decision making / ोनणȀ�यन 

22)

Question Stimulus :­

Goodwill is an example for / गॏडोशल (ऺॊख), ________ कॊ एक उदॊऻरण ऻॖ।

Fixed asset / 脀�थॊयॎ प磀�र ॠऺपोĀ

Current asset / चॊलॐ प磀�र ॠऺपोĀ

Intangible asset / अमॐतȀ� प磀�र ॠऺपोĀ

Fictitious asset / आभॊऺॎ प磀�र ॠऺप豈��فخ त

Correct Answer :­Intangible asset / अमॐतȀ� प磀�र ॠऺपोĀ 

23)

Question Stimulus :­

Which of the following is not a fixed asset? / ोन昀� म荀� ऺॕ कग़न एक 脀�थॊयॎ प磀�रऺ�ोĀ नऻॎ ॠ ऻॖ ?

Goodwill / ऺॊख

Small tools / छख़टॕ औजॊर

Vehicles / शॊऻन

Leasehold / प�ॊध॑ोत

Correct Answer :­Small tools / छख़टॕ औजॊर 

24)

Question Stimulus :­

A company has gone bankrupt as its liabilities are far in excess of its assets. A shareholder will be called upon
to pay ___________ / एक कॠ पनॎ ोदशॊोलयॊ ऻख़ गई ऻॖ 諀�ख़ॠोक इऺकॎ दॕनदॊ磀�रयॊॠ, इऺकॎ प磀�र ॠऺप豈��فخ त ऺॕ अोधक ऻ�। एक
षॕयरधॊरक कख़ ___________ भॏगतॊन करनॕ कॕ ोलए कऻॊ जॊएगॊ।

Nothing / कॏ छ नऻॎ ॠ



An amount that could, at most, equal the original cost of the shares /  शऻ रॊोष, जख़ ोक षॕयरख़ ॠ कॎ मॐल
लॊगत कॕ बरॊबर ऻख़ ऺकतॎ ऻॖ।

A proportional share of all creditor claims based on the number of share you own/ �ॊोमĀ षॕयरख़ ॠ कॎ
ॠऺ蹀�ॊ कॕ आधॊर पर ऺभॎ लॕनदॊर दॊशख़ ॠ कॎ अनॏपॊोतक ोऻĀॕदॊरॎ

a proportionate share of debenture claims based on the number of shares you own/ �ॊोमĀ कॎ  ॠऺ蹀�ॊ कॕ
आधॊर पर ऋण प� दॊशख़ ॠ कॎ अनॏपॊोतक ोऻĀॕदॊरॎ

Correct Answer :­Nothing / कॏ छ नऻॎ ॠ 

25)

Question Stimulus :­

The assets which can be converted into cash within the short period of time is called as______ / शऻ प磀�र ॠऺपोĀ,
जख़ अ歀� ऺमयॊशोध कॕ अĀर नकद म荀� प磀�रशोतȀ�त कॎ जॊ ऺकतॎ ऻॖ, ______ कऻलॊतॎ ऻॖ।

Fixed Assets / 豈�脀�थर प磀�र ॠऺपोĀ

Liquid Assets / तरल प磀�र ॠऺपोĀ

Fixed and Liquid Assets / 豈�脀�थर और तरल प磀�र ॠऺपोĀ

None of the above / उपरख़� म荀� ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­Liquid Assets / तरल प磀�र ॠऺपोĀ 


